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The following Table-1 shows the readership of Hindi (H) and English (E) magazines (in lakh) of
four different categories, namely, General, Sports, Film, and Business from the year 2020 to 2023
and Table-2 shows the number of Hindi (H) and English (E) magazine of same four categories
published during the same period. No magazine was discontinued during the above mentioned

period. Based on the data in the tables, answer the questions that follows:

Table-1: Categorv-wise details of Readership of Magazines (in Lakh),

Number of Magazine Readers (in lakh) in the vear

Category 2020 2021 2022 2023
E H E H E H E H
General | 2.0 | 24 | 26 32 40 | 36 | 50| 40
Sports 08|04 12 0.8 20114 24| 16
Film 12 ] 16 | 19 25 20 ) 30| 24| 36
Business | 0.6 | 03 | 08 0.32 12 1 05| 16 | 1.0

Table-2: Category-wise Details of Publication of Magazines
Number of Magazines Published in the Year
Category 2020 2021 2022 2023
E H E H E H E H
General | 24 | 20 | 30 | 28 | 34 | 30 | 38 | 32
Sports 6 4 10 ] 6 14 | B 16 | 12
Film 6 g 0] 12110] 14 ) 12] 16
Busniess | 8 4 10 4] 12 8§ 14 1 16

Sub questions

Question Number : 1 Question Id : 3421238268 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

What is the approximate average readership per magazine in 20227

1. 13615

]

. 14600

3. 12805

4. 15715

Options :

1.1
2.2
3.3
4.4

Question Number : 2 Question Id : 3421238269 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

g28.digialm.com/CAE/viewHtmIPDFAction.action

The difference between the number of magazines published in 2022 and 2020 is.

L.

[

4.

0

A

h
-2

h
L=y}

Options :

1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 3421238270 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

From the year 2020 to 2021, if P is the difference between the number of Hindi magazines and Q
1s the difference between the number of English magazines published then P : Q is.

I

k2

4.

2

-2

Options :

1.1
2.2
3.3
4.4

: 3

[

Question Number : 4 Question Id : 3421238271 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action

3/167



8/29/24, 9:56 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

In the year 2021, as against the year 2020, the number of readers per magazine declined for the
category of magazine.

. General

(]

. Sports
3. Business

4. Film

Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 3421238272 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Considering only the English sports magazines, the ratio between the number of readers in 2020
to the number of readers during 2020 to 2023 is.

l:2:i

B
fa—
ws]

T
(g

s 15

Aol
Options :
1.1
2.2
3.3
4.4

Question Id : 3421238267 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension
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difetdt 1 |, 98 2020 Y 2023 dd G, W, (hed 9 AR & IR 47 9ot 7 i8St (1) 3R
S (B) URASHISH & UIadh| &f @1 (dd H) Sl 75 g 3R difdd 2 § 3491 3@y &

GRM 3l 9R Aol & gaiiRd &< (1) 3R SEiel (8) ufFdmrsi & W g2l 18 gl

difdimT3dl H Uad S1el & ATYRW, 3 & U & IR Sl

difcTant — 1 UBieTsil & uras| &l Yullar fqaur (o o)
T4 H gi@Tel & Ued! & 9 (@nE 1)
goft | 2020 2021 2022 2023
E|H|E|H|E|H|E|H
aFa | 20|24 26| 32 |40]36] 50|40
od |08 |o04]12] 08 [20]14]|24]16
fper |12 16|19 25 [20] 3024356
R |06 |03 os|os32|12]05]16]1.0

difcre — 2 T & UHTH &1 4R e
LR CAIEGR ECARI AR e

goft | 2020 | 2021 | 2022 | 2023
E|lg|eE|u|E|B|E]|H
oA |24 | 20 (30 |28 |34 |30 58] 32
Td | 6|4 |1w0]6|1a]s8]16]12
o | 6|8 |1w0|12|10]14)12]16
amur | 8|4 |1w0]6 12|88 |14]16

Sub questions

Question Number : 1 Question Id : 3421238268 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

ay 2022 H Ufd GRS TTHIT 3(19d UTd S e fdhaHi g2

1. 13615

(]

. 14600

3. 12805

4. 15715

Options :
1.1
2.2
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3.3
4.4

Question Number : 2 Question Id : 3421238269 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gy 2022 3R Y 2020 H UGN BT &1 TS & &g &1 2fd? fhd1 g2

1. 50

Lh

3]
N
=

¥ ¥]
h
[R]

4.

A
L=y}

Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 3421238270 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gy 2020 ¥ 2021 dP Al USRI fgal UHAS13M &I WAl o dfld 1 3R P g IR Q 3iUsl &
U UGBTI Bl W b dld BT fRg A P: Qg

L3
2.1.:2
3.1: 1
4.2:1

Options :

1.1

2.2

3.3

4.4

Question Number : 4 Question Id : 3421238271 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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%ﬁzn:ﬂﬁ@aﬂﬁaﬁzﬁzlﬁﬁ?ﬁﬁ%%ﬂﬂﬂﬁﬁ%ﬁﬂﬁﬁwﬁﬁw%

1. HIHY
2. 9d

3. 4R
4. fther

Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 3421238272 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3RS Wl UlH13Ml &b ATH H, a8 2020 H UTdd 9T 3R a8 2020 9 2023 & did &I UI6H
e & ol BT 3uUrd fab =1 g2

L2 9

[
fa—
oo

15

tad
(g

4.
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2
Sub-Section Id : 342123328
Question Shuffling Allowed : Yes

I
h

Question Number : 6 Question Id : 3421238273 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which component of Baddeley's basic working memory model is involved in the task of pressing
keys on a keypad in a clockwise pattern?

1. Visuospatial sketchpad
2. Bounded rationality
3. Phonological loop

4. Metacognition
Options :
1.1
2.2
3.3
4.4

Question Number : 6 Question Id : 3421238273 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

d3d & HYARYd HEAHIYD RHeid b1 SIH-G ued duilucd (bl Us) R Hiowl (1) Pl
claoad (B dIgs) Yo H ga- & S H XA g2

L. fasfairefRme whats

[

2. UREg Jfsdriad

3. WS qu

4. ATGFE (HeTHIHIRH)

Options :
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 3421238274 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 8/167



8/29/24, 9:56 AM g28.digialm.com/CAE/viewHtmIPDFAction.action
Which of the Swayamprabha channels are dedicated to higher education in various disciplines?

A. Channel 01
B. Channel 13
C. Channel 18
D. Channel 27
E. Channel 38

Choose the correct answer from the options given below:

l.A. D and E only

b2

. C and E only
3.A.Band C only

4. B, C and D only

Options :
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 3421238274 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafaRad § 9 $1H U WUy < 3y flawal § 3= [2ren & fou gafid g2

A. 994 01
B. d9d 13
C.d9d 18
D. 99d 27
E. d-d 38

1 feu U fas ettt # 9 F1 IR &1 99 DI
1.had A, D 3R E
2. Hdd C ARE
3. ®Hdd A, B AR C
4. HddA B, C.D

Options :
1.1

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 9/167
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2.2
3.3
4.4

Question Number : 8 Question Id : 3421238275 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are the primary goals of PM e-Vidya?

A. To provide free text-books to all students

B. To facilitate multi mode access to digital/online teaching-learning content
C. To offer scholarships to topper students

D. To facilitate the uniqueness with its comprehensive accessibility for all

E. To benefit learners in remote areas where stable internet is not available

Choose the correct answer from the options given below:

1. A, CandE only
2. A.Dand E only
3.B.D and E only

4. C and D only

Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 3421238275 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FgfeiRad 9 9 &Y U1.uH 3. {9 & Uidiis deg g2
A. Gt faeniéiat &1 f:30eh Ured Qe UeH BTl

B. fSfSTed/siars fremr - 3iferm fawgayg

ddh Sgide T & Wil § Ygrd gl

C. 3= 3 T faeqfdal &t SEghkaat &1l
D. Yl & et g Il & 3HRKEUA o Ggrid gl
E. 39 X% &1 | i disi ol oy UgdHI, Sigi fRR ge3-e Iudsy gl g

i fu U fad el § 9 @81 IR &l 994 Diflu;

1. Had A, C R E

2. BAd A, D JUTE

3. $9d B. D 3R E

4. HadC 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 3421238276 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-TT

LISTI LISTII
Tool/ Softwares Applications
& | Photason i To create Pre-and-post-session polls to gauge student learning from each
sess10n
B. |Mindmeister II. | To create mstant animated videos
C. | Github III. | To understand and make connections between concepts, ideas and information
D. | Mentimeter IV. | To store, share, and work together with others to write code

Choose the correct answer from the options given below:

1. A-IV, B-11, C-1, D-III

2. A-II1, B-11, C-1V, D-1

3. A-IL B-IIL C-1IV, D-1

4. A-I, B-IV, C-1II, D-II

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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Options :
1.1
2.2
3.3
4.4

g28.digialm.com/CAE/viewHtmIPDFAction.action

Question Number : 9 Question Id : 3421238276 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

AT 1% 1Y &I 11 D1 e Hifoe

1 11
il (o)
BH & Udd T3 o HIETH & HIUA g 93 4d Ud G-l HdaH wifud
A, |wrerTE L g
A eHReR I |TenTd Heild (@ e ) fafsgl agr &
filced 11 | uR@eaT, fadRi Ud Ya-1 & 5% G4ioH B Ud G
D. |HdHiex IV. | B8 ferg- gq o1 o H1Y Hae S99, gl &1, B Bl
1 feu U fadedl O 9 WEt SR &1 994 DIl

1. A-IV, B-11, C-1, D-III

2. A-III, B-11, C-1V, D-1

3. A-Il, B-IIIL, C-IV, D-1

4. A-1, B-IV, C-III, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 3421238277 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The contents of Swayamprabha Chhanel-16 with the theme of “*Skill and Vocational Education”
are provided by:-

1. CEC, Delhi

(]

. IGNOU, Delhi
3. IIT, Bombay

4. IIT, Kanpur

Options :
1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 3421238277 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

WYY I - 16 I [a9ga] fordanT 9o faw (10 <dI<rd 3R ey fer g,
FafIRad gRI1 STy HRaml Sl 6:

1. s ot feedt

2. 39, feeedt

3. 30Ty, 3175 <, i
4. 33 313 1, HHYR

Options :
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 3421238278 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 13/167
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Which of the following is the most appropriate for measuring the strength and direction of
assoclation between two interval/ratio variables?

l. Spearman's rho
2. Pearson'sr
3. Phi

4. Eta

Options :
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 3421238278 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

&l SARTTl / U =R & AL HAISH Pl €gdl Ud G2 & A g FHafarad 3 9 o
quicl SUged 62

1. TOTRAT BB (rho)

2. UIRTH & r (3R)

3. Thlg
4.3l

Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 3421238279 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 14/167
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Which of the following methods of graphical representation of data would be useful for showing
trends?

1. Bar charts
2. Line charts
3. Box plants

4. Pie charts

Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 3421238279 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gqfcal &l fea & feu fAafafad o 9 & 91 Srer sl siieidia Fegur ugfd 3uani gifle
1. IR A1y
2. TR AICH
3. dIdg A1dy
4. T1g A1

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 3421238280 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 15/167
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Identify the main preoccupations of qualitative researches.

A. Generalization

B. Description

C. Emphasis on context
D. Flexibility

Choose the correct answer from the options given below:

l.A. B and C only

2

.B, C and D only
3.A.Band D only

4. A. Cand D only
Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 3421238280 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IS 2l b1 G AFHUA &I UgdH S

A HHAHI0

B. fdavm

c. dgH W 939 SR
D. ddida-

- feu U fasett # ¥ F81 IR &1 99 DI
1.BdA A, B3R C

HddAB. C3ARD

3.Hdd A, B 3R D

4. HdAA, C3ARD

Options :
1.1
2.2
3.3

t-2

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 16/167
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4.4

Question Number : 14 Question Id : 3421238281 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Covariance L.e Cov (X.Y) and standard deviations of different datasets are given. Estimate the

g28.digialm.com/CAE/viewHtmIPDFAction.action

correlation coefficients and arrange in increasing order

Choose the correct answer from the options given below:

1.A;B,C,D

2.B,C,D,A

3 EDAB

4. D. A B, C
Options :
1.1
2.2
3.3
4.4

Question Number : 14 Question Id : 3421238281 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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YEURY (BIART) 311d Cov (X.Y) IR fafHe STeriel & AMS faaed (Ess Sfagzm)
fGUTU S | YgUWERIUD] BT 3fibad B3 3R igTd HH § |

A. C(}v(
B. Cﬂv(
C. Cov(X,

(X,

D. Cov

1< feu MU fadetl # 9§81 IR D1 9 BT
1. A, B,
2.B,C,
3CT;

4.D,A,

Options :
1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 3421238282 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

32, o, =8,0,=7
Y)= x y
) 36 o _lh,c:r_ =5

=33, oy =1, 0,
) 3‘) 0y =6,0,=

C.D

D.A

A B

B.C

Match List I with List I1

List I List IT
Total Sum Squares (TSS) and Residual Sum of Sequences (RSS)|R? of Regression Model
A R85 =25 T88 =60 I 1046
B |RS5=35T88=73 II. 057
C. |[R55=30.T85=70 IIT. | 0.533
D. |R55 =40 T55 =73 IV. | 0.58

Choose the correct answer from the options given below:

1. A-I, B-II, C-III, D-IV

2. AL

B-III, C-IV, D-1

3. A-IIT, B-IV, C-1, D-II

4. A-IV, B-111, C-II, D-1

Options :

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 3421238282 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e ERINE eIl CAIERIEEIELY

g28.digialm.com/CAE/viewHtmIPDFAction.action

T
@ &1 Fa TR (€ TH TH) 3R a9 BT a1y 0 (31 TH TH)

A |RS5=25TS55=60 I |046
B. |[RS5=35Ts5=T3 I |0.57
C. |R55=30.T55=70 III. | 0.53
D. |RS5=40,T55=T3 IV. | 0.58

A feu U fasedl § U 9gt 3 &1 994 DIoIU:

1. A-L, B-IL C-III, D-IV

2. A-1l, B-1II, C-1V, D-1

3. A-IIL B-IV, C-1, D-II

4. A-IV, B-11I, C-II, D-I

Options :

1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 3421238283 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following has been criticized for “*dumbing down’ the news media?

|. Weather broadcasts

t2

. Commercial brochures

3. Magazines

4. Television

Options :
1.1

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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2.2
3.3
4.4

Question Number : 16 Question Id : 3421238283 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Fafaiad 9 ¥ fhad! YR Hifed & Ak 991 & 96y H &R IR (ST 3169 &
feTQ ST Dt Sl g2

1. HIGH YR

G| CACCNILGAIY
3. 9P

4. TS

Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 3421238284 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Today mass media exercise enormous

l. Corporate power

t-2

. Ethical might
3. Economic influence

4. Trade unlonism
Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 3421238284 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 20/167



8/29/24, 9:56 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

T Hifsar 940 1 {b g DT ggd UahT dd g2
1. PIRURE fe

AifdRS 2l

3. M =fdd

4. YD Afad

Options :
1.1
2.2
3.3
4.4

f-2

Question Number : 18 Question Id : 3421238285 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are the feature of broadecast (first media) age?

A. Decentred

B. One-way communication

C. Many-way communication
D. Pre-disposed to state control
E. An instrument of inequality

Choose the correct answer from the options given below:
1. A B, Conly
2.B,D, E only
3.C.D.E only

4. A, C.Donly

Options :
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 3421238285 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FafaRad 9 9 o I w9Rr (Uyd HiiSan) g ol fa2edm g

A fadbl<sa

B. Uh ] N0

C. gAYl YN

D. Ud - UGUI Y I Bl (g0
E. ST & Uh HIeH

- feu U faded! ¥ FpT IR B 90 HIST:
1.Hdd A, B, C
2. $HddB. D, E
3.$HddC. D, E
4. BT A C.D

Options :
1.1
2.2
3.3
4.4

Question Number : 19 Question Id : 3421238286 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct sequence of the emergence of the following concepts.

A. Virtual Communities

B. Cyber Culture

C. Being Digital

D. Tele Computer

E. Interactive Media Culture

Choose the correct answer from the options given below:
1.A,B,C,D,E
2B CDAE
3 DACEB

4.C,D.E.A,B

Options :
1.1
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2.2
3.3
4.4

Question Number : 19 Question Id : 3421238286 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fAfeRad sraurRuIel & ey & Ul 2P Dl UgdH DI

A. STHTH 9geH
B. gk T (d

c. feforea giAn

D. el SR

E. IRER {111 - fhardd Hifsar 9pid

HId feu 7t [dsedl § ¥ gaT 3R &1 99 SISl

Ay B DV E

[a—

f-2

B, C.,D,AE

L

XA CFE B

4.C,D,E,A,B
Options :
1.1
2.2
3.3
4.4

Question Number : 20 Question Id : 3421238287 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII

Author Concept
Manuel Castells I |Electronic Nomads
Trevor Barr I1. | Post-Information age

Nicolas Negroponte | III. | Global Village
Marshall McLuhan | IV. | Interactive Media Culture

ola|w|e

Choose the correct answer from the options given below:

1. A-I, B-II, C-1II, D-IV
2. A-1I, B-III, C-1V, D-1
3. AL B-TV, C-1. D-IT

4. A-IV, B-1, C-II, D-IIT

Options :
1.1
2.2
3.3
4.4

Question Number : 20 Question Id : 3421238287 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

B | =
(HIUTYTM)
T agd | 1 |Soeeie gaana
SR ER 1L | SR - g g
@i Fud= | o |afy® g
AEid Ohded | IV | o= - fparas Hifea gl

AT U U fadhedl § U It 3R &1 994 DIoIU:

1. A-I, B-II, C-III, D-IV

olo|w|x

b2

. A-II, B-III, C-IV, D-1
3. A-III, B-IV, C-1, D-II

4. A-1V, B-1, C-1I, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 3421238288 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find the missing term in the series given below. 2, 12, 36. 7. 150

1. 80

t-2

2
3. 100

4. 86
Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 3421238288 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Al QU U 907 o6 © ot T DT Udl ¢ 2, 12, 36, 2. 150

1. 80

2

T2
3. 100

4. 86

Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 3421238289 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A certain amount of money deposited in a bank becomes 1008 in 2 years and Z 1164 in 3%

years. Find the amount deposited in the bank and the rate of interest per annum.

1. %700, 12%

B

. X800, 13%
3. €750, 13%

4. 850, 13.5%
Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 3421238289 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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dp U SHI 1 18 Bis AR E au 3. lODS:"—QHS%H‘ﬁﬁ? 1164/- B STl g1 §p T o
M2 3R 1t &aTS] &3 DI Il Tl |

1.%. 700, 12%

2

. 800, 13%

L8]

.. 750, 13%

4.%. 850, 13.5%

Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 3421238290 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If *CAKE’ is coded as 20 and ‘FAIL’ is coded as 28 then how ‘FIRST’ shall be coded?

b
-1
[

4.40
Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 3421238290 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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G CAKE &I 20 3R FAIL ®1 28 HIS [hdl AT & dl FIRST &1 &1 HIS fhdl SIa?

1.35

-
=]
-

4. 40

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 3421238291 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Forty five (45) men can do a job in 16 days. Six days after they started working, 30 more men
joined them. How many days will they now take to complete the remaining work?

1. 5— days

b2 | —

]

. 7 days
3. 5 days

4. 6 days

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 3421238291 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tl (45) AldT U BRI Dl 16 el H IR Gavd g1 37% SR YR I3 & 36 a1 & 916
I B H 30 Afdd 3R M Bl U1 3(d d HeTd AN B bl R A H fdbd e oo

sifeq
2

[—

7feA
3.5fc¢d
4.6fcH

Options :
1.1
2.2
3.3
4.4

b2

Question Number : 25 Question Id : 3421238292 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List I with List 1

List I List IT
Expression Value
0.1x5.5x55.5x0.5 I. 10.00152625

0.01x0.55x5.55x0.05| II. |0.0152625
0.1x0.55x55.5x0.005 | IIL. | 0.152623

0.01x5.5x5.55x0.5 IV. 1152625

ola|w|s

Choose the correct answer from the options given below:
1. A-1, B-II, C-III, D-IV
2. A-IIL, B-IIL C-IV, D-I
3. A-IV. B-1. C-11. D-III

4. A-1V, B-11, C-111, D-1

Options :
1.1
2.2
3.3
4.4
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Question Number : 25 Question Id : 3421238292 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT 1D 1Y G 11 D1 THAH Pifore
g1 T 1
(®)

0.00152623
0.01x0.55x5.35x0.05| II. |0.0132625

[
=S
]
et
"

Lby
LA
W

LA
LA
LA
bl

[
LA
[

0.1x0.35x555x0.005 | IIT. | 0.152625

262

ofn|w

0.01x5.5x5.55x0.5 v |1

LA
LA

A fGU U A el § 4 I8t IR 1 999 DI,

l. A-L B-IL, C-III, D-IV

]

. A-IIL, B-IIL, C-IV, D-1
3. A-IV, B-1, C-II, D-III

4. A-IV, B-11, C-III, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 3421238293 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

* Since all medical practitioners are competent and no competent people are underpaid. Therefore
no medical practitioners are underpaid.” Which fallacy is committed in the above argument?

1. Hasty Generalisation
2. Affirming the consequent
3. Begging the question

4. Undistributed muddle

Options :
1.1
2.2
3.3
4.4
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Question Number : 26 Question Id : 3421238293 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

i Slael U= ¥ T i ofdd G&m g 3R Bl ol Hem ofdd SeuddiHd -Ig! g, SHiciy
Slaed U Y 31 Bis i Afdd 2ed ddf-id 8! g 1" Sdd db H BI--91 gfdd.-a g2

1. =i gE=fiau
2. Hadid fau

3. TSI GIY
4. 3 gd &N

Options :
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 3421238294 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the statement ** All Plants are Carnivorous”, is given as false which of the following statements
can be inferred to be true:

A. Some non-plants are non- carnivorous
B. No Plants are carnivorous

C. Some plants are carnivorous

D. Some plants are not carnivorous

Choose the correct answer from the options given below:

1. C only
2. B and D only
3.D only

4. A, B, C, D only

Options :
1.1
2.2
3.3
4.4
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Question Number : 27 Question Id : 3421238294 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gfe ~qt gl giaHel 8id § U I 3R |1 SIdl § o (MafeRdd J U g $y &l 9™
AT S 9dhdl g2

A. T8 IR TRAYel gid B
B. Big 4t Uley AigHeh Tl e g
C. TS U1 A4 81 T
D. $3 UIY ARqHel T8 gid B
1 feu T fadedl O 9 F8T 3R D1 99 DifoIT:
. ®ad C

Had B 3R D
&Had D
4. Had A, B.C,D

Options :
1.1
2.2
3.3
4.4

[

[N

Question Number : 28 Question Id : 3421238295 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following propositions are Contrary?

A. All cows are herbivores

B. No cows are herbivores

C. Some cows are herbivores

D. Some cows are not herbivores

Choose the cerrect answer from the options given below:

1. Aand C only

[

. A and B only
3. C and D only

4. A and D only
Options :
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1.1
2.2
3.3
4.4

Question Number : 28 Question Id : 3421238295 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafead 8§ 9 oH-01 ufoitaal fawia 2

A, T4 T 2 yel gidl B

B. g Hi g TMHHaf TgT BIdl |
C. @ T AHYef gidl ¢
D. §& T A Hel =g gicll|

- feu U faseut # ¥ §87T IR &1 99 DI
1. Hdd A 3R C

had A 3R B

3.%dd C 3R D

4. HadARD

Options :
1.1
2.2
3.3
4.4

I

Question Number : 29 Question Id : 3421238296 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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From the following identify the statements that are logically equivalent.

A. No squares are circles

B. Some squares are not circles

C. Some non-circles are not non-squares
D. No circles are squares

Choose the correct answer from the options given below:

1. B and D only

2

.B and C only
3.A.Band C only

4. A. Cand D only
Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 3421238296 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafdfRad 9 9 34wyl &1 ugdH Sifore ol difdbs 2P § g9daa g |

A. DI Hl T, 3T T Bl €|
B. $ 97, 91 el gld &

C. $® R-gd, R TIZEE!
D. ®is Yl gd 971 481 gId S|

- feu U fasett # ¥ F81 IR &1 99 DI
1. $dd B 3R D

HAd B 3R C

3. HAd A, B3R C

4. HdAA, C3ARD

Options :
1.1
2.2
3.3

t-2

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 34/167



8/29/24, 9:56 AM g28.digialm.com/CAE/viewHtmIPDFAction.action
4.4

Question Number : 30 Question Id : 3421238297 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are included in the inferential process for inferring fire from
the perception of smoke as per Nyaya Philosophy.

A. That hill has fire(Pratijis)

B. Since it has smoke (Hetu)

C. Wherever there is fire, there is smoke, eg kitchen (Udaharana)
D. That hill which is smokey, must have fire too (Upanaya)

E. Therefore the hill has fire (Nigamana)

Choose the correct answer from the options given below:

l.A.Band C only
2. A.B.D and E only
3.C.Dand E only

4. A and B only
Options :
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 3421238297 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Y a2 & TR YU & UAEEIY T I DT 312 T & fold srgan-a uichan o fFHafafad
EREREICARIERICRIE IR

A. TGTS1 IR 31T § (Ul arem)

BHEIGTWHYMNgE®)

c. STgt el *f ST giclt § agT Yaif gldT ¢ Wi foh 1S =R H (3T
D. 95 UgTe! Sl Yif gad g, 3TH 3@ 31T Hi gl =g (3u)

E. 29f¢IU Ugrsl ur 301 g (Fmee)

- feu e faseut # ¥ #T IR &1 99 DI
1.Pdd A, B3R C
2. $hdd A, B,D 3R E
3.$dd C, D 3ARE
4. DHdd A 3R B

Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 3421238298 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A keylogger, short for Keystroke logger, is type of cyber threat. Keyloggers are a form of

1. Worm

2

. Trojan Horse
3. Virus

4. Spyware

Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 3421238298 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

DI-dR, Sl HI-Elh-dlTR &I & $U g, Udh UbR &I Y3aR 49l g | dl- dR Hg d
EREaRaE I

1.9
2. TS g

3. 915
4. WGAR

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 3421238299 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following pair of acronyms and their expansion is incorrectly matched?

1. ROM - Read Only Memory

f-2

. WAN - Wide Area Network
3. OMR - Optical Mark Reader

4. USB - Universal Secure Bus
Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 3421238299 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TR 2R 38 fGEdR &1 9 H U DI 11 i gHferd Tel g
3R 31 T - IS 3l O

. §&g UUA - 9133 URAT4cadh
I TH 3R - AP dhd A1 e

4.4 U o - g9y d @R 99

Options :
1.1
2.2
3.3
4.4

—

f-2

L8]

Question Number : 33 Question Id : 3421238300 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In cyber world, Black Hat Hackers are individuals with extra-ordinary computing skills who use
these skills with malicious intent. In this context, identify the correct order for a successful black
hat operation.

A. Scanning

B. Reconnaissance

C. Gaining Access

D. Covering Tracks

E. Maintaining Access

Choose the correct answer from the options given below:

LA By S E D

t-2

.B,AC.E D

3.C.D.BAE

4.D,C,AE, B

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 3421238300 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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ISR g1 H, &I §¢ oh Y SR TR DI didd Hfdd 8ld g o1l 39 DI bl
fTgogol U Y UAN Hd g1 29 e § 9hd siid g¢ Udla- & gl 3(hd &1 Ugd
” 1:

A Th{HT
B. 2Ig ol
C. HTH I d ST
D. UG [l &l UM
E. 3T d41U 3G

A fou U faeedl § 9 ¥8T 3R &1 994 DI

1L.ABCED

2.B,.A,CED
36D BAE

4.D,C. A E. B

Options :
1.1
2.2
3.3
4.4

Question Number : 34 Question Id : 3421238301 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following software titles are examples of system software?

A. Ubuntu
B. Google Docs
C. MS-Office 365
D. Android
E. Chrome OS
Choose the correct answer from the options given below:
1. A.B,DandE only
2. B and C only
3. A.Dand E only

4. C.,D and E only
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Options :
1.1
2.2
3.3
4.4

Question Number : 34 Question Id : 3421238301 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

9 & 9 19 T QrieamR e YoTelt SiiediR & 35180 30

39T

RIUNESIG:]

UH UY Y 365

TS

HH AT

HId feu U {9 edl § 9 T8t IR &1 994 DI
. ®dd A.B.D 3R E

hadB 3R ¢

3. Hdd A. D IR E

4 HAdd C.D3RE

Options :
1.1
2.2
3.3
4.4

mOnwmpE

I~

Question Number : 35 Question Id : 3421238302 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
(Unit of Data Capacity) (Approximate Size)
A | Kilobyte I | 8 billion bits
B. | Gigabyte I1. | 8 million bits
C. | Terabyte III. | 8 thousands bits
D |Megabyte IV | 8 trillion bits

Choose the correct answer from the options given below:

1. A-IIL, B-1, C-IV, D-II
2. A-IV, B-II, C-1, D-IIT
3. AL B-TV, C-1. D-IT

4. A-1, B-III, C-II, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 35 Question Id : 3421238302 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

@aag;ﬁqﬁa :alf_tnléf]rla

A |fFdEEe I |8 faferg= focw
B. |7imETge 1. |3 Tafer faca
C. |EEe 11 |8 59K facd

D. |HTEEe 1v. (g feferae faey

I feu 71U fash el § 9 T8t IR $I1 994 HIfIT:
I. A-IIL B-I C-IV, D-II
2. A-IV, B-IL, C-1, D-III
3. AL B-IV, C-I, D-II

4. A-I, B-1II, C-IL, D-1IV

Options :
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 3421238303 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
(Fuel Type) (Example)
Non fuel I. |Biodiesel
Alternative fuel II. |Hydrogen fuel cell

Non traditional fossil fuel | III. | Wind power

ola|w|e

Emerging fuel IV | Compressed Natural Gas (CNG)

Choose the correct answer from the options given below:
1. A-IL, B-1V, C-1, D-III
2. A-IV, B-11, C-I11, D-I
3. A-I, B-III, C-IV, D-II

4. A-I11, B-1, C-1V, D-I1

Options :
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 3421238303 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

GELR GEipt
EE FIPR) (STER
A |TR-ZeH 1 |&rar- Sed
B. |d®icud 394 11 |ZEeed ud Ia
C. |"R - IREN® Siared 3¢H | 1L |ga 9ifed
D |SWRaiged v | gdifsa wefas i @ wsh)

AT U U fadhedl § U It 3R &1 994 DIoIU:

1. A-IL, B-IV, C-1, D-III

b2

-A-TV, B-1I, C-IIT, D-1
3. A-lI, B-III, C-1V, D-II

4. A-III, B-1, C-IV, D-1II

Options :
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 3421238304 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is not caused due to noise pollution?

1. Bronchitis

t-2

. Cardiovascular diseases
3. High Blood Pressure

4, Insomnia
Options :
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 3421238304 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fFrafead & § S @i U & SR 30 el gidT 8
YT (shIgicd)

. & dTfgdT SR (@IfSaatger fSsle)

3. 3 G

4. SHEETIAT

Options :
1.1
2.2
3.3
4.4

—

f-2

Question Number : 38 Question Id : 3421238305 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are true about Waste-to-Energy incinerations?

A. It serves dual purpose of disposing municipal solid waste and producing energy
B. It produces fly ash

C. It produces bottom ash

D. It generates a high level toxic air pollutant-dioxin

E. It produces toxic metals such as Lead and Mercury

Choose the correct answer from the options given below:

1. A, C.DandE only
2. A.B.D and E only
3. B and C only

4. A, B, C,D and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 3421238305 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fFrafeRad 7 ¥ S 9 BT 3URIP -H-Foll HEFHIBI0 & aR H Tel 62
A. %ﬂﬁqﬁﬁwmaﬂﬁ]@%mﬁﬁ?\mﬁ? Jd1e & Tlg WaIS &1 b1 gidl
|
B. 34 Ulls U &1 Sl glal g |
C. 39 delid {8 BT IA1G gidl ¢
D. 39H 3= WY fa¥ell 91 - UgNd - SHANdE- 39 gidl ¢
E. 294 201201 3R URT Sl fquelt Yrqu S gidl g1

A fau U fasedl # 9 ¥8T 3R &1 994 Dol
1. Had A, C.D 3R E
2. ®dd A, B, D3R E

3. Had B AR C

4. Hdd A.B.C.D.E

Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 3421238306 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following cause indirect Green House Warming?

A.CH,
B.NO
C.NO,
D.N,0
E.CO

Choose the correct answer from the options given below:

1. A. B and C only

b2

.Aand D only
3.B.Dand E only

4. B, C and E only
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Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 3421238306 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FfIRad 9 S e Ui- 8139 i 39 $id o2

MmO nNnw »

1 fqu Y fdsedl § 9 Fg SR &1 99 HifoT:
1.Hdd A, B, C

HIdA SR D

3. ®dd B, D 3R E

4. HIAB, C 3R E

Options :
1.1
2.2
3.3
4.4

]

Question Number : 40 Question Id : 3421238307 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

So far, which of the following countries has not ratified the Convention on Biological Diversity?

1. India

2. China

3. Russia

4. United States of America

Options :
1.1
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2.2
3.3
4.4

Question Number : 40 Question Id : 3421238307 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Frofafad & 9 fea <23 Sifae fRfgud w Afimg @<52m) 31 29 9@ A Td 31

1. HIRd
2. dF
3.y

4, KT T SHRPT

Options :
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 3421238308 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The names of great scholars like Raghunath, Raghunandan and Sri Chaitanya were associated
with which of the following ancient university?

1. Sridhanya Katak
2. Vikramshila
3. Sakya

4. Odantapuri

Options :
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 3421238308 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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XYY, Y- SR A A0 S U fagrl & - (99 (6 Ui fayfaemeg 9 9s €2

1. NYg Heh
faARrEr

[~

3. MY

Options :
1.1
2.2

3.3
4.4

Question Number : 42 Question Id : 3421238309 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The professional organisation that opposed the inclusion of its educational discipline under
NCHER was.

1. Education Council of India
2. Dental Council of India
3. Architectural Council of India

4. Bar Council of India

Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 3421238309 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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dg HqUID TEH, o+ 3(0H Aferd favyg &1 U4 1 0.3, 3R. & fdiid Gifeld & &l
faRiey fopa or:

- HRG e uikug
HRA &d uRug
- YR ar&] uRkeg
4. YRAJG §R URug

Options :
1.1
2.2
3.3
4.4

—

I

L

Question Number : 43 Question Id : 3421238310 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The recommendations of the National Council of Teachers Education (1976) were:

A. Limiting the number of teacher education colleges

B. Universities should recognise short term courses for in-service education for teachers
C. Avoidance of correspondence courses for in-service teachers

D. Use of technological aids like television, films and others

E. Formulation of a network of extension services for in-service teachers

Choose the correct answer from the options given below:
1. A B, Conly
2.B,C,Donly
3.C.D.E only

4.B,D.E only

Options :
1.1
2.2
3.3
4.4

Question Number : 43 Question Id : 3421238310 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 50/167



8/29/24, 9:56 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

BT R1e0 e TRES (1976) DI ST It

A. TR fRren-wgTideeal &1 Uvedl ol ifHd BT

B. fayfa=reral gRT Uard el &l f21e & folu srcudmiidaes urddgdl &l Al < SIHl
difgu]

C. YaRd 1 & folt TAER ursd<dl ° URgR

D. Taiiido, flhed! 3R =1 UY Ui 1 Ygidd IUHUll &l U

E. YaRd [2&&] & foru faadR garel & <edd &1 (a0 S0

- feu e faseut # ¥ #T IR &1 99 DI
1.®Hdd A, B, C
2. $HddB.C.D
3. $HddC. D, E
4. HddB, D, E

Options :
1.1
2.2
3.3
4.4

Question Number : 44 Question Id : 3421238311 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The National Education Policy, 2020, recommended certain verticals Under Higher Education
Commission of India. They are

A. NHERC (National Higher Education Regulatory Council)
B. NAC (National Accreditation Council

C. HEGC (Higher Education Grants Council)

D. GEC (General Education Council)

E. OLC (Open Learning Council)

Choose the correct answer from the options given below:

1. A.D, E only
2. A.B.C,Donly
3.B.C.D, E only

4. A.B.C.E only
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Options :
1.1
2.2
3.3
4.4

Question Number : 44 Question Id : 3421238311 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

RIET 218 A1, 2020 = YR 37 &M SR & Sl & STHI B RN DI 14 T:

A. T.0E 5. 3R Ipg 3= Riar fafamd uRve)
B. TH.UY. (I¥19 Uarg- URug)

C. TA.3Si.4L. (3= TR1e 3MeH uRkyg)

D. Sl 3. (A & aRkee)

E. 3.0l (Had AT uRug)

1d fGu U f[ddh el § ¥ F8T 3R &1 98- SIS
1.hdd A, D, E

2. Hdd A, B.C,D

3. ®HddB.C.D.E

4. Hdd A, B.C.E

Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 3421238312 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII

Proponent Initiative

Lord Dalhousie| 1. | Support to oriental education

Annie Besant II. | Technical education

Lord Curzan ITII. | Moral education

ola|w|e

Lord Auckland | IV |Reform and control of higher education

Choose the correct answer from the options given below:

1. A-I, B-II, C-1II, D-IV
2. A-1I, B-III, C-1V, D-1
3. AL B-TV, C-1. D-IT

4. A-IV, B-1, C-II, D-IIT

Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 3421238312 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 53/167



8/29/24, 9:56 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

AT 1S 1Y &I 11 DT e Hifoy

=] =

oS Sagrel | 1 |wres fan &1 g e

o fad=e il SGEiGARE]

dle o L. |Afae® faren

dis dieds |1V | 3= fan & gur 3R FEm

AT U U fadhedl § U It 3R &1 994 DIoIU:

1. A-I, B-II, C-III, D-IV

olo|w|x

2. A-1l, B-III, C-1V, D-1
3. A-III, B-IV, C-1, D-II

4. A-IV, B-1, C-II, D-III

Options :

1.1

2.2

3.3

4.4
Sub-Section Number : 3
Sub-Section Id : 342123329
Question Shuffling Allowed : No

Question Id : 3421238313 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension
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Read the passage carefully and answer the questions that follow:

Anthropologists have questioned universal explanations of war. Some hold out the hope that war.
like slavery, can be erased by wise collective decision-making. But warfare is too diverse and
historically widespread to be cured by simple remedies. Economic motives have always existed.
A fight for salt or metals, gold and treasure, enslaved labour or access to trade routes, or oil and
other resources has marked many of the world’s violent conflicts. But ideological and religious
confrontations have also driven war. Hubristic warfare from Alexander to Napolean to Hitler was
meant to establish dominion. The rise of Chinese power has provoked questions on whether
potential conflict with US will descend into war. The search for security can be found in every
warlike episode. as frontiers feel fragile. Is war on the decline, with new forms of settling
conflict, cyber-attacks, and so on? The wars of this very century belie that hope. An ecological
crisis, resource stresses and clashes of beliefs are only too visible in the emerging international
order. And so, the future of war might not look very different from its past.

Sub questions

Question Number : 46 Question Id : 3421238314 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What do some anthropologists think and hope about war?

1. War will continue forever

]

. War will keep on evolvig taking a new form
3. War can be eradicated by wise collective decision making

4. War will happen more frequently

Options :
1.1
2.2
3.3
4.4

Question Number : 47 Question Id : 3421238315 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to the text. why it is difficult to eliminate war from the world ?

1. Because, it is too diverse and historically widespread

]

. Because it is not difficult to understand people and society
3. Because of the modern technology

4. Because of the rich people
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Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 3421238316 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What all economic motives have historically driven war?

1. Only gold and treasure

-]

2. Only salt and metals
3. Only trade routes

4. Various resources including salt, metals, gold, treasure enslaved labour, trade routs and oil

Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 3421238317 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following terms has been used to describe wars meant to establish dominion by
leaders like Alexander Napoleon and Hitler?

1. Resource Wars
2. Defensive Wars
3. Hubristic Warfare

4. Revolutionary Wars

Options :
1.1
2.2
3.3
4.4

Question Number : 50 Question Id : 3421238318 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Common element that is found in every warlike episode mentioned in the text is:

1. Technological advancement

t2

. Economic upliftment
3. Search for security

4. Ecological balance

Options :
1.1
2.2
3.3
4.4

Question Id : 3421238313 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

T[T DI WIGUTHIYAD g DX A1 [GU Ui & 3TN Siferg]

AHafaIal 9 g 1 GrdUIifs IR R Y @l ¢ $F dll &l Yad 3= ¢ fh
fadmyul Ufed (MU gRI g T YHTGHT AW B ol Ybdl ¢ oIl GRYT & AT J g3
o7 I¥d g B! fRufd gd-1 fafqudnTa ¢k Uiagiie ¥ 9 ga-l s g fd 9yRo 3umal
U oo YHd A8 g |

nfie Ie=T gHEN f3emM I8 €1 79 T uIgait, T 3R WeH & fau ders o 4fis! &
QT &I11 41 dc 3R 19T AFT 41 daf a1 3 HH1e! dob Ugd &1 fay & dgd 9
fe9® gzl & SRUI a4 ¢ Tq ddike 3R Ui Tbraal 4 g5 &I AHURG fHar gl
e I Aulfergd ddb SR AUlfergd d fgeek dd gdhal WY dg UYd RIIfUd 3 & feu 4|
i< @ Afdd § gi< 814 U I U 34 g3 ¢ [ 1 Ggdd I & 41y fadie < d uRafdd
1 ST | Uidh JSuHTH U0l § GRaf & ford oI ¢t off el g | i diatd &7 w@d
Pl HUGIR TEYY IR I ¢ | 1 ZAS! & GHIH & U 30, WIgaR - g 1S & PRI I
BIEH ¢ 24 el H IS U Gl 3 39 3= DI AT Fifdd a7 uiRiyfasig dae,
el IR GeTd 3R T a4l | Thvid g1 SHRCT SFRIP vyl H IHRd! o 3l
g1 3R 3Ol g &1 Hidw, 39 2fdid ¥ 4fid i T8t TR M1dT|

Sub questions

Question Number : 46 Question Id : 3421238314 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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$ AF4 a9, 3 & IR & 71 Tiad § 3R M= &Hd 8
1. 9g SHRI SR X |
2. 4G 91 Y dhR Udbe gid g |
3. faaeyul arfg® ulg da g o1 S+ fhar s gadi g1
4. gz 3Hi¥d IRER g |

Options :
1.1
2.2
3.3
4.4

Question Number : 47 Question Id : 3421238315 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

UT6 & TR 3% ¥ g5 BT a1 I B3 g2

1. 1T g8 3Andd fafae 3R Uidgiys U Y JAud g
1T TN SR YIS ] YA 9gd Do Al ¢
- HIYFS TS & BRI

4. ¢[[aH AR & BRI

Options :
1.1
2.2
3.3
4.4

2

L

Question Number : 48 Question Id : 3421238316 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fob 3 Ie=al 4 Udeifd U U g & ifiuRd fdbar g2

1. Sad AT 3R Tl

2. Hhdd THd 3R Ug
3. had AUIR® ANt
4. IO, HTd, G, WoAHET, A 406, e O71f 96 Ugd 9Ul dd Jigd fafts dare-

Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 3421238317 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafeiRgd o 9 9 &1 94T g8 afvid s & o0 fvar 11 § o g U e RdheR,
iferad 3R fgeeR S el gRT UYd AU AT 412

| 9 g

2

TP TS

BPSIMRITS
4. PifdPRI TS

Options :
1.1
2.2
3.3
4.4

L¥S]

Question Number : 50 Question Id : 3421238318 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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q1& o IfctRgd Udd -G U9 H gra1 S-drdl i ded g
L. Ui g 34fd
31 I

f-2

3. GR&TT DI qr

4. qIRIRYTAD T Yo
Options :
1.1
2.2
3.3
4.4

Punjabi

Section Id : 342123112
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 342123330
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 3421238319 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AfJ3 ¥ 439 feg AHH=T qg9a=T o WO gA® faAs J4t -

i =

1. feGeg Sr3<Adl

2. HolfAH Jigalt
3. &G zwrefE

4. 99%H 3984

Options :
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4.4

Question Number : 51 Question Id : 3421238319 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A3 ¥ 439 feg AHHE=<T g g9a=2 ©f WO gA® faAs J4t -

4. 99%H 3984

Options :

Question Number : 52 Question Id : 3421238320 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘IHEILIY Yi3uex HEe I<uH’ I91 §3H e 3 IHEIA niget € Yfsues & fan
nEg I & HAOS 13T

1. vigTa T €31

2 W JI88E

3. vgTa T 992

4. g AT FTHT
Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 3421238320 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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‘IHEITY YI3U=s HEE JI<HH’ I7d1 B30 e 3 JHEIA »idget € Yisues & faA
g & HEfOS F13T:

L. wigTa T €31

 WGTd T AdRaTE

(]

3. vgTa T 992

4. g I T ITHT

Options :
1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 3421238321 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fadt Foet @ nrizEaH! © 32T 3% [qAs IBETenT J:
1. A3 fARw Ay

Afdted fHw Irdt

3. Afeed AW Bu®

4. g5<3 fiw fega

Options :
1.1
2.2
3.3
4.4

b2

Question Number : 53 Question Id : 3421238321 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fadt Fo=t 8 niizEaHT © 32T 3% [qAs IBETenT J:
1. H3 A A

wfdes fiw gt

3. Afeeg AW Sus

4. %<3 fHw fega
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Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 3421238322 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

II%gs THW F9T niagAg UATEt @939 &7 A8 3 UITET Y93 a3 7;

1. Ud'35 TaHATHT

2. TATAT HOTSH
3. UTE Al
4. 39y Qufer=

Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 3421238322 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

II%I6 AW S99t nigA™d UATE! o939 ©7 AF 3 UyIET 493" faasT o

1. U335 TaHATHT

2. TAHT HOTSH
3. UTE AT
4. 39y Qufer=

Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 3421238323 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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siasfan & yfiu sfesr “grEin nig &t Earz Hdtea” & ‘Herg’ THIdY 6 Unet
JdTe-MEeT 1dH6 AI3T J :

1. JI9gHn fHW

[

.AAfeR =413 fAW Agadnr
3.4, Ifdeg fAw &=

4. FdT 9029 JES
Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 3421238323 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

issfan € yfia sfesr “grein nig &t gai'e Hdteg” & ‘Hera’ THady Jo Ut
ANE-MEIE 1A AIZT J

1. JI9aHn fHW

[

. HAfeA 3413 AW AIad
3.4, 9freg fHW &Er
4. 7d1 g0=4g JifEs

Options :

1.1

2.2

3.3
4.4

Question Number : 56 Question Id : 3421238324 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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‘Ifent Tt =9 feg fan fefzoma wear = 88y 3, 8v far AN fegag =udt AT

I; 1780~-~-1790

[

.1608--1708
3.1680--1690

4. 1580--1690

Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 3421238324 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘Ifonit 1 =9° feg fan fefsoma wea o 83y 7, G0 fan A fegarg =uat At

1. 1780--1790

]

.1608--1708

3.1680--1690

4. 1580--1690

Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 3421238325 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Hog® ©f 9 AUt At O Hags fumiat
Fed Hdld 3 Hhid 803 W'Y 9488 © 91
Suda=s arfe-A=at ¥ &ud O

1. vifoHe o9

2. Hhit HoH=
3. 9H 79
4. Uts

Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 3421238325 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Hog®s <t aw AUt At T Hags flmiat
Bed Hdld 3 Hid 893 We JuE © 91|
Buda= Ffe-A=3at T &y J:

L. wifoHe o9

2. Hhit HOH=
3. fgR HO
4.ts

Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 3421238326 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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I9 a6 €< Hf & 1003 991 few ¥9 Juar & J1=T

1. H®™d

[

.H™S
3. M™T

4. 7t

Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 3421238326 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ly

Id &84 €= Al & [d03 991 <9 79 Jg& & AT !

1. H&'d

]

.H™S
3. ™7

4. Hat

Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 3421238327 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

JEIAT & YIE Fa1I3 = [TH fdat Hlaaghntt feg f&fumr J:

1.01

]

.02

3. 04

4. 05
Options :
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1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 3421238327 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

EIHT B yda 3413 =7 e mT faamit Hiagg it feg st I-

1.01

b2

.02
3.04

4. 05
Options :
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 3421238328 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

=

‘Higed niie Ignisc!’ g9 Td03™ a86 Adt adf J ¢

1. feg 2are 7t 8% T yus3T § 9% 9T I

2. feg AUA »3 A8 & 2Ud 293 J|

WA,

3. feT wiedt, 91t wis JEa & 3T § 293 J

Options :
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 3421238328 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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‘HITZT vi'e Jgnisc!” a9 {d93T 386 Al &ar d ;-

1. feg ¢are At 9% 2T Yyus3T § I€ J9e7 J|

2. feT AUA w3 A8 & 2UJ I3 J|

wH,

3. feT wimsrt, Siat »ig JEaht & g § 293e J

4. feT AUA ni3 ATEF 3 fooa® adf =93e7|

Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 3421238329 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“Dﬁralgatic Tradition in the Punjab from Harrapa Antiquity to the year 1930 far=T Hu-
Ugyg d

L. A=t g9 90T

2. 793 fAw Ast
3. Jdd9ds AW
4. WSHATS
Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 3421238329 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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“Dﬁralgatic Tradition in the Punjab from Harrapa Antiquity to the year 1930 fameT 70—
ygg d

|. A=tH gH™g 947

2. qadAs fAw Ast
3. J9d995 THW
4. WSHAS
Options :
1.1
2.2
3.3
4.4

Question Number : 62 Question Id : 3421238330 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e TR T8 wisATd Urmet aredardt fed' A 3° ufast fan aredary & nifus
Higed ¥ yg'e JgienT J:

1. ayd fHY WHE

2. FI39 AW Ja1s

3. A9 13 AW Aat
4. 9%=3 Jrga
Options :
1.1
2.2
3.3
4.4

Question Number : 62 Question Id : 3421238330 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AgfenS THW 28 nigAd st aredad’ o9 g 3° ufas’ aR areaer & nifus
Higed =7 Y= Igien J:

1. 9yd AW WHE

(]

3. gaAi3 fAw Aat

4. g%=3 Jrgdit

Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 3421238331 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[oH BIUTST [H93d 3 niHITET BauraT wifthiis 21 fUSTHT witfemr JfeT T

1. {9993 wiH. 39A

i®%s 33
3. ATEIH® . &9

b2

4. I&T BT AZA

Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 3421238331 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

oA BIUST 3 & nHITET BAUTaT niftmis &7 fUSTHT nitftpr JieT J

1. {3993 wiH. 3dAs

2. i®E 3T
3. ATEIH® . E-:_na

4. I B AIH
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Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 3421238332 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“HTge@#rT Mg € @de&®d (Morphology of the Folktales) ©7 4o T'7
|. THEHE Uy
2. f[e&H 8HA
3. 0155 B3

4. IH3 feshi

Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 3421238332 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“HTge@dT ni'g & @42 (Morphology of the Folktales) 27 &4 d°7
1. TBEHIT Uydu

fe®iH gHA

3.9I%6 33

4. IHT fe®hmiH

Options :
1.1
2.2
3.3
4.4

[

Question Number : 65 Question Id : 3421238333 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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oA M%9d & AREIT 389 & ‘@df UB & fegesas’ fdar 7

. Aude THW ymggr
2. 2% wra. feée
3.U6<3 od

4. JI&® THY

Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 3421238333 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

oA »B9d & AAEl 389 & ‘@df U3 & fegasas’ faar I

|. Ayde  THW ymagr
2. 2% wra. fedw
3.06<3 od

4. JI&® THY

Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 3421238334 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

37. 3709 fHW nidAS AY 3° 20 BT 913 JU J
L S1gaT

-

.dmd

[

3. BHT &t
4. U3-312 3 a=g-9i1=
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Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 3421238334 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

37. 3799 THW niEAT A 3° 20 BII%T 9113 JU J
L 1gaT

-

2. dnidr
3. BHT g&t
4. Y3-d13 w3 ao-dis
Options :
1.1
2.2

3.3
4.4

Question Number : 67 Question Id : 3421238335 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g 98 A feg Ae arfe-gu € 233" o3 geiad & 15T O

1. gId »iIds &< AT
2.9 Hed Al

3.91J IHEH HI

4. 319 WHITH AT

Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 3421238335 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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arg I

— -

g A0 fe9 Ae drie-gu €f 293" a3 geidat & iS5t o

1. 91d »iJds €< HT

[

.gvg" Hedg AT

3. 919 IHEH Al

4. 319 WHI=H AT

Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 3421238336 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Uatat T feg ‘%7 Agud ©f Ufg®t =79 =93° fon 99T feg a=t:

1. U335 AaHAHT feg

]

AT RS ©F 9947 feu
3. 3TE I99H et =gt feg
4.99 difde Ay <t 9967 ‘I3t € 29’ feg

Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 3421238336 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Uatat g feg ‘67 Agud ©f Ufg®t =79 =93° fon J99aT feg a=t:

1. Ud35 daHANT feg

]

A'd JA® =t 99ar feg
3.37E JI99H It gt feg
4. 919 difse Ay €t 9967 ‘I3t &F 29’ feg
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Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 3421238337 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘Afg3 @ fef3am feuer Ase adf fabfa fered ATd 33 HaHs 39 3 »iEis o8
HEfus &dt J< | ) .
o0 Jge fan UgHT fIgsa @ 97

1. WT U™ HT'd3d

3. WiE=d3 M®BEIe

4. JSHA
Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 3421238337 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘Aig3 = fEf30A fsuzr Ase adf faBfa fore A9 33 HaH® 39 3 »iEis o8
o0 ggs fan vat fdsa == 97

L. WT U™ H'd3d

3. MES93 MBI

4. JSHS
Options :
1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 3421238338 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

‘Td }’Hch-l dlsa":iH UTH ? =9 dIH oo D{d'i'd |

JoT S F9iH T § vy ugeearg |l
Budas Ffe-AS9T T 33U I

=1

1. g3 JHIT

[

. FdI3 BTHES
3.9d &8k €< AT

4.9d viIds €< Hf

Options :
1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 3421238338 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘Tid }‘Hdﬂ dl::é'ﬂH UTH ? =d diA A0 D{d'ﬂ'd I

JST FEld AdH 3 & »ig ugS=ard |’
Sudas Frfe-R3IT Sy o

1. 5913 JHI9

f-2

. FAI3 BTHT=
3. 99 &6k €< AT

4.919 niIA& &< At

Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 3421238339 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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o 99 TH&eET Has gfentt, fher aient Zemit 7|

7 99 fHea T %u'IEWﬁWE_a’TH'FﬂWF Il

H 99 Haer 9 srfen, ﬁr&?TEEHFHEW dl
afe-FA3at = ;

1. 9% HJ

Bt Jug

[

3. A®3S ¥

4. IIBH 24T

Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 3421238339 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

?r 39 tH&eT A% gfent, fHee qenit St g
T 99 fHs T %U'IEWﬁW I3t AAT 1

1 99 fueer Si9g sfon, THeer sant HE g
Busas Tfe-H3at o B 3 ) )

1. g% HJ

VBt ded

]

3. A®3E ¥

4. IIBH 29T

Options :
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 3421238340 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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aH IHANT © AJ=-FHA [@ads WaHAd

L. Agtert =T gienet 39 3 fea g 3° Sudint J&mit 781

2. FTH Yt 39 3298 € AUIA Idr TRt AfEt I

3. 3THT € 9239 3 AeH-A3 THUS ded® dae Ia |

4. ITHT gfde Yfdfant™ AHAT UgAUT Yyse '3 fogga J9et 1

Options :
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 3421238340 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

aH IHAET © Ade-FH f@ads Waad ;

L. Agtnit =T gientet 39 3 f&a g 3° Sudintt Jemit 781

2. I ydt IgF TI=IS © AUS It it AT 9

3. 8THT ©f 9239 3 AeH-A3 TAUS ded® da¢ I6 |

¥ [ i |

3 faggd agdt I

4, FHT JIfdE UfAfan AN UIAUT UFT=

Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 3421238341 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AfUg S92 HfEz rEvs (ufgasusT) < udaT J

1. 3THT, HY W3 YSuE & a9 feet 71

]

g fAae §3Aa-niafafant = G3u=s T
3. 37T gfente! 39 3 Az -fefommes =937 I

4. fe99 »i3 YUz IH & niad fdd T8 |
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Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 3421238341 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Afig 29¢ fHfas Agus (ufgasus) @ Togs T

L. 3THT, A9 M3 YSuE 3 g foet 71

2. 377 fAag §3Aa-wigfafant = 83umes T

i g

3. 37T gfentd! 39 3 Hiz -fefomres zasmar I

4. fe9™9 ¥ YU IHT & wiad fde I |

Options :
1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 3421238342 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-

oo Oatm3He fearet =0 dgifde J13T I

Qﬁ%{ (Phoneme) & Ad&Y

i+,

1. YSTal AdS &

AUI &

[

3. WHI TS AI® &

4.299 HI® &

Options :
1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 3421238342 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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-

UATH (Phoneme) € HI®Y & fea uam=sHa fearet 21 qifos 137 J:

L. USTal AdS &
AUT &

3. MHJIET AE® &

]

4.2949 HI® &

Options :
1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 3421238343 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘H TE gdier 371 ¥ fee A &t 97

n N

|. F=Tdl fges

1)

YIS I T3

]

Lk T L&
3. dd3dTl I3

4. nifHs fafanr

Options :
1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 3421238343 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘He A grdler 371 @ feg A |t 97

non

1. e ge3

~

. MYTS 9 (T3

]

Lk S L&
3. dd3dTl I3

R N EREIGI
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Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 3421238344 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘THST AHS fou fagzT fefomget gre vmifonr &7 | for =9 feg ‘fag3 Age fan

Hoo-Hat &% Aafus J7

r = faliiat
l. ToHd<s™dd IsHHS

2. Hitn=ga ferAs

[

3. ugaet ferrs

4. UH==od AR
Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 3421238344 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘TRST AN oF° &g fefenrget Az nrfenr 371 fer o feg ‘fags™’ mae fan
Hae-Hel 5% AYfUs J7

il = o=
l. TéaHd<™dol IsHH&

2. Hitnw=ga fepA=

[

3. UZat foHrs

4, YHEegd feine
Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 3421238345 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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WHHd niey € aed ‘faad fiw &t 13’ ©7 U39 a96s sfes e faad fiw 53
J®E3 gder J 3t faA3gt EF ITET g% J:

1. fufas
2. FIIEH

3. ZIHST UaT]

4. igrd=T
Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 3421238345 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

WAHT vy € aTed ‘faad fHw &1 /3’ T U39 996 Sfes e food R o3
J&E3 gaer J 3T faAsgt € 3T g% O

1. fufas
2. JI15®

3, ZIH® ATl

4. vigrdwt
Options :
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 3421238346 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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U9H U™ ATI® © a8 oA nigfea g&h <t ySieusT a9 95
1. yar3t §39

As-ua3t

[

3. @nE!
4. a3t

Options :
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 3421238346 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

UgH U Aa® © a8 fan nifgfea & 7t ySieos a9 75 ;
1. U3t §39

Asuast

]

3. TnE!
4. a3t

Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 3421238347 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FI3ST Ifg T RS oz e /S 9 ;

I H9E ¥ Ydie< (Yal-gu) 38

HIZ © »idg Uy 5%

]

3. HOT ©f ®JHST HIA3T o5

4. 7= <1 fenias Aa=3t o®
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Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 3421238347 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Fasdt afg @ Aec fAuz ev RSO O ;

I H9E ¥ YdITe (Ua-3U) 3%

I

_HIE © »idg UY &%

3. Hg< ©f ®JHET HA3[ o5

4. Fg< o fenias Aa3T &%

Options :
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 3421238348 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SH SJfantt sgfent IR U'er, 19w nireHl I8 s 29|
WH WA o A% = fogst ‘3 IAT 578 2 I _fers 2y |
Buda= Ffe-A3a feu fom ni@ag & =93° fiset O

. g

2. dud

3. foge’s
4. BUHT

Options :
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 3421238348 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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oIH SNt o9 U, HIY WTeH! I HAS 24|
WA WA o A% < faost ‘3 IAT & <t 3¢ _fomms 24|
Sudas Ffe-A3at feg fan nidag &t =93 fumet O

1. iU

ar
3%*
8y
= T

[

. dud

4. BUHT
Options :
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 3421238349 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AA=3 TAY &4t €1 Jfe3T ¥ 739 I8

[

. AlIMTa, HIH, HolSan™sd, Ydiisa

b2

falila)

3. HAIZ[anA™sd, A, Ydi3l, JoA<

4. Uditsa, yarst, wifomsHd, Ifasad

Options :
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 3421238349 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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HA=3 fHY 34t € If<3T ¥ 73T Ta:

[

\Hfdmad, Aod, Holeldmisa, Yalisd

non

3. Halefamiad, Had, Ydist, JoA=

4, Udit3a, yarst, mifo=3Ha, Iiasnd

Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 3421238350 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“Uargt fasrginz’ s yASa o &ud de I7
1. Fgg™ HioA

]

NBBIS e

3. fempe sAtH Hisa
4. ™H39 TAS
Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 3421238350 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“Uarat fazmdinz’ aHT yAST = &ud d& J7
|. Hgg™ Hfsx

]

NBSIA SR

femr= B3HIH Hi®a

LS

4. 439 TS
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Options :
1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 3421238351 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fogu-Harfg “Ho &t # & &4d d& J7?
1. 397 fRw

2. %% THW TH& nidst

3. 996 fHW Adle

4. 79" TAY

Options :
1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 3421238351 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fegu-Harfa ‘Ha € ¥a’ & 3ud & J7
L. 377 fHwr

2. %% THW TH® nidst

3. 994 fHw mdte

4. /e TR

Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 3421238352 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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‘FET B U feg farm IF =7 HET 97
1. gTIHT
2. AT
3. nfgd!
4. Urrdt

Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 3421238352 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘Tt ye gy feg fam 3 = mee 97
1. e gAT

~ n

. HHIS

]

3. wiggr
4. Ut

Options :
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 3421238353 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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‘ngfed Unmet afest = fef3om’ o9 Iiies us fRw 8979 & fie e ges<t &t
JNeddl € ¥ Us'T J6:

1. mgge & I=8l, i € HOa3T, 937d HY 3 Yuldl

2. Hod, f&ad’, Afon y=g 3 yargiewt /g
3. fadt wifsfenast 3 99, gage 3 usfes, yduar 3 garez, fadg’ 3 yais=sHasT

4.n313 T Ha, At 9913, 598 Ae-FAee , yaist 3 faga
Options :
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 3421238353 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3

‘mofex Uadt gfesT =7 fofzamn

mgfad U T feg gfd=g us fAw 993 & Tae qug gl =1
JdTSddl © Bee Us'E U6:

1. migge g I=8l, arfe & HOasT, 9379 HI 3 Yuldl

2. Hod, T83d°, AfgA Y= 3 yaigie=t A9
3. fodT nifstenast 3 99, gage 3 usfes, yduar 3 gdres, fado’ 3 yais=sHasT

4. w312 T Hu, At 9913, f6ds Ae-Aee , yaist 3 fagor
Options :
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 3421238354 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AJH= U39 ©f AuTes yAsd fqost 7

1. fagy nigg a9

[

AeT St st

3. ®=dt € ©9drd

4. 7= feg feu g9z

Options :
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 3421238354 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o=

A9+13 U39 o murfes umsa faost 4

1. o9y nidg a9

]

ATl Soft st

3. =t ©F ©ddrd

4. <" feg fey g9z

Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 3421238355 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

89 ¥ YUdrsHa gu @7 HET 97

L. ¥ € fenffuni-H&d 3 S8d 238 518 |
87 2 fams 8539 83 niorfd3 23 35|
3. 47 =t fefamrmaa 3 mfosa 25 5|

8 <t Teut 3 morids 23 a3 |

]

£+
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Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 3421238355 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U ¥ YUarsHA gu ¥ Hed 97

L. g9 €T fenffuni-H&d 3 S8 238 515 |

2. 87 2t fomis 839 83 »urfa3 23 a5 |

3. 49 =t fefamraa 3 Afasd 23 a5 |

4. 99 ot feut 3 niufas 235 a&|

Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 3421238356 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“Urrdt S9137 UAST ©F Bud I
1. 713 fAw Aiz®
2. fuporar fRW u=H
3. fummg fHW
Options :
1.1
2.2

3.3
4.4

Question Number : 88 Question Id : 3421238356 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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“Urrdt 59137 UASH ©F BHd I
1. 713 THw A3®
3. furtg fHW

Options :
1.1
2.2
3.3
4.4

[

Question Number : 89 Question Id : 3421238357 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ot il L&

TfeH S9ySe Y & ‘GHe gedt © o feu fan &v & 293" 1=t O

1. AY

z E%E

]

3.93

4. g3

Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 3421238357 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

™ e S 5 [l L&

Jfed 99Y9ET & ‘GHe god < fdH feg fan & € =93 =t J:

1. AL

[
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Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 3421238358 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

WE9H T Ale®3T 578 WeE mUfed Hod € AigH nis mi39-T<e § 34t 2var v qu
[ 9T & TE37 ;

L. YGige=t g

 HSTg== O

f2

3. vigiade=! O

4. B3g-viufeas<t o
Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 3421238358 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

GTESH Eﬁ”_\ﬁ{caﬁ:;' &% W& WIS HaY © HigH ni3 niSg-T=e 3 Sdl Sear = qu
[H 97 & €37 ;

L. YGigrieT=t g

I

. gsae] O

3. mMgieg= g

4. B§33-miufeg=t o
Options :
1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 3421238359 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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“fag* 3fanm? ae =7 Ifanm? YAz oo feaa?
T 3o 3577 Tocé HET? ﬁ?ﬂ" uE e |
Hies €t fd37 feg a9 90 Ales uu ) 3w,
Uttt =7 oH 3947, m‘car 396 T e |
Budas ¥ A=Y feg faoz 35 At T&:

A3y fHw A9
Bﬁ-rof’ra’f%?

3.CnE D

4. Anf3D
Options :
1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 3421238359 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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“fag* 3fanm? ae = Ifan™? YAz oo feaa ?
CEEC ISR |o<G4 HTET? ﬁ?ﬂ‘ uE Mz |
Hies €t fd37 feg a9 90 Ales uu ) L8
Yttt =7 o1 394, m‘car 396 T e |
Budas ¥ A=Y feg faoz 35 At T&:

A3y fHw A9
Bﬁ-rof’ra’f%?

3.CnE D

4. An3D
Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 3421238360 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Hfdeg IT fa% wisAT Ja9ge! fe9 “Ha®' Hue fduz niagt fag =af3nr famr 7
AYHAT T aﬂg =4 niget fog
B. B3A=-3809 € niggf feg

C. HY w3 JfeniE € niget fog
D. mifi3HE nigat feg

Adt feamy & 9 a9

I.A.BW3C

2.B.Cn3D
3.A.BwW3D

4. A, CYW3D

Options :
1.1
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2.2
3.3
4.4

Question Number : 92 Question Id : 3421238360 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Hfdeg Ia faw wisAg gage! feg “Ha®' gue fauz niagt fag =afanr famr 7:
A HHT T 3113 © niggt feg
B. §3A=-13809 < niuwt feg
C. HY w3 Jfenis € niggt fog
D. WifT3HA wiagt feg
Adt fesmy ot 9 99

I.A.Bn3C

2.B.Cn3D
3.A.BnED

4.A.Cv3D

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 3421238361 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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2nT® AGET (Consonant Sequence) & g ot T7

A.S<H

B. 899 s

C. B899 uz dv

D. feniaat = Afg fegas
Fdt feamy &t 9F F9

ILAWID

t2

AN3IC
3.Bm3 D

4.C M3 D
Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 3421238361 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
2iT® AGET (Consonant Sequence) & HTU™d at J?
A . FTH
B. 899 43

. 899 43 I¢
D. feniast = Afg fegas

Adt feasy & 9 a9

ILAWID

t2

ANEC
3. BWI D

4.C M3 D
Options :
1.1
2.2
3.3
4.4
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Question Number : 94 Question Id : 3421238362 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-,

Jfesrs fAw 3 1803 I9e J9d YyIs TAW & J9a-Ha1s THiga-Hes ysis ger J

A. 187 ni532 guiHE feg Y3 yiftsH & ot ya\ J1_
B. %Ummve?m?mmnmaﬁ?mﬁ
C. IS & emmﬂ#‘rwm «;'H:ﬂa-so{ﬁ' SE| HUTT T

==

D. 32 & &< Heggt Idt fAgAE = 91 J|
AT feamy & 9 &9 -

I.An= B

ANE C

(]

3.AYMI D

4Bn3 D
Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 3421238362 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-,

Jfesrs fAw 3 &3 I9e J9d YyIs TAW & J9&™-Ha1s THiga-Has ysis ger J

A. 187 niz3= gufHE feg Y3 wiftmsH = ot yam J1
B. fgzrmumav?’fm“rmmnw@?aﬁrmm
C. d=T & emrHTEng'm «;'H:ﬂ@o{:ﬂ' Il HUTT T

D. &< 3 &< Heggt Idt fAgAE = 91 J|
AT feasy & 92 a9 -

I.AnI B

ANM3 C

2

3.ANMI D

4Bn3 D
Options :
1.1
2.2
3.3

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 99/167



8/29/24, 9:56 AM g28.digialm.com/CAE/viewHtmIPDFAction.action
4.4

Question Number : 95 Question Id : 3421238363 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Us=3 od WA First Wave Feminism © Adad 76;

A.@Hrfﬁé’rfﬂﬁw
B. IHa T wig3t Tt ATt
C. Iaarg
D. fenrg aéa dnrt Agast
Adt feamsy St 8= a9
B O
o I - WL
3. BB
4.A.B,D
Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 3421238363 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Us=3 dd WGH First Wave Feminism © AJad U6;
A. Egrcﬁ‘ Hg?fﬂ‘fdw
B. IHAHT wig3t Tt AH At
C. Iedrg
D. feng I dhurt Agast
it feamsu St 8 &9
O
2.4A B €
3. BT

4 A.B.D

Options :
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1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 3421238364 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“Uggt usHEdT 2Rt o’ I9 ooz d8s AdT I6:

A fer gga feg & 50 AYT T
Bﬁéﬂﬂ@ﬁﬁéﬂ?ﬁwwmﬁww{aﬁ?mmww@ﬁwam
c. e Hafo fegsnit 38 ARfint TA< 319 &'®% RAfU3 I8

D. fer goaT feg@it 12 Andbort U @g?ﬂue:o@uamu@‘?%ﬁam

Adt feamy & 95 &9

1.A,B,C

2B e D
33A.B.D

4.A.C.D
Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 3421238364 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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“UIdT USHIT ¥R<T ot gd fag3 389 AdT 75:

A. Ter 395 <9 d® 50 AT I5 |

:B%Fqﬁ?%m@wam¢mﬁﬁﬁ§@gE#ﬁﬁ@ﬁﬂﬁﬂmﬁﬁ%ﬁam

c. fer Hafg feg@nt 38 Andbort TR I3 &% AU 75|

D. for J9& fegdnt 12 Adntt URS' g9 © Hies BUd yam ugemi 75|
At feamy St ST &9 :

1.A, B, C

f-2

B, €, D
3.A.B.D

4.A.C.D
Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 3421238365 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

JI9gYH AW 3 WiaA™T ASWEE € wid 76

A USHsa Afgma
B. 9 H& 13 Afsnag
C. Ua'ggd AfgmaTg
D. §USHA Afgm™=g
At feasy St 3= a9 -

1.AB, C

2.B6 . B
3JA.B.D

4.A.C.D
Options :
1.1
2.2
3.3
4.4
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Question Number : 97 Question Id : 3421238365 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

JogyH AW e9'F nigAT Afsn™=Tg & widl 76 :

A UTSHsa AfsnaT
B. & 13d Afsn™aTg
C. U=T9Ed

D. 80 3Hd Afgnigg

Adt ey o 9F a9 ;

1.ASB, €

2. 5.6, B
3.A.B.D

4.A.C.D
Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 3421238366 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Jredt AYETE &% HYU3 Sl 75
AI : r\:f:.
B. 88 HJ

D. g9 2412

AT feamy & ST a9 -
I.A.B.D
2.A, B, C
3.B.C,D

4. A.C.D
Options :
1.1
2.2
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3.3
4.4

Question Number : 98 Question Id : 3421238366 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Iedt AYETE &% AUU3 Sl 76
A.H'J TA®
B. g% AT
D. g9 2912
Adt feamy & 5= &9
1.A, B.D
2.A,B,C
3.B,C.D

4 A.C.D

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 3421238367 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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7. A9t fHw 3 3T @ wigg ‘T =T J9<'H 2 AHG! 995 3 ooz =997 feg
It I )

A. HATS STHT IJd--FdH

B. UA™S STHT 2Jd--T1J]

c. fJet 3 =9a--A=u

D. 91 THT SJI—AG3/A=U

Adt feamy & 9 a9

1.A,B,C

b2

.A,B,D
3.A,C,D

4.B.C.D

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 3421238367 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3T, At fHW & 3™ & mirud ‘3 gET geeA € AN 9997 @ faus 29dr 19
It 7 -

A. A3 ITHT TJd--FdHA

B. UA™d 3THT 2Jd--T1J]

c. fJet 3w 99w
D. g1 IHT TJI—aAT3/AZU]

Adt feamy € 9 &9

1.A,B,C

]

A B.D
3.A,C,D

4.B.C.D

Options :
1.1
2.2
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3.3
4.4

Question Number : 100 Question Id : 3421238368 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FISHAT WiaAd Hized St nifa3t w3 faryt 75 ;

A ey

B. Sdard’d

c. fza=r

D. Ji& g

Adt feamy &t 9 a9

1.AB, €

2. 5.6, B
3.A,C,D

4 A.B.D
Options :
1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 3421238368 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FISHAT WiaAd Hizeg It wifazt worfas famit 75

A nifezTarg

B. TJdrad

c.fza=r

D. I& AT

Adt feamy &t 9= a9

1.AB, €

2.BE B
3.A,C,D

4.A.B.D
Options :
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1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 3421238369 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
3. gfggrs AW & 99 aad fd3& €f BATSt feg 963 & gfonte ¢ faus 39 uge
Ja.

) [

A. feada-uasa
B. AUdI-fedar
C. AGIT-T3HT
D. H3TJ5-HJg 99

Adt feamy € 9= &9

1A, B, C

2. B, £.D
3.A,C. D

4.A.B.D

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 3421238369 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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37. Ifg9s THW & 919 3ad f938 €F GRSt =9 fga3T € gfonte ¥ {993 A3J uge
Is:

i) -

A. TET8I-Ugsd
B. HUd-T<udr
C. Adg-mT3HT
D. H3T95-AJ9 99

Adt feamy & 9 a9

1A, B, C

B

e L o
3.A,C,D

4.A,B,D

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 3421238370 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FTg TAY YfgaT »igA™d AfSW™=TE © HaT93 widl J6:

A. FTHT

B. ¥JAWS

c. Arfas

D.oH U<

At feasy St 9= a9 -

1. B, €. D

(]

A B.C
3.3A.C.D

4.A.B.D
Options :
1.1
2.2
3.3
4.4
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Question Number : 102 Question Id : 3421238370 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gfifeg faw ufagT nisAg Afsw=Tg © A9T93 widl 76

A. FTHT
B. WS
c. Afas
D.&H U<

AT feasy &t 92 a9 -
LB, €D
2.A.B.C
3.A.C.D

4.A.B.D
Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 3421238371 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Aoz & fefzoraat &7 yoivs T

A ATI3 & IB-25 ]
B. ATfg3 =7 fefgmiaa miftmws
C. ATI3-AHaIt =7 feesdiads
D. A3 feur=t of 3&

Adt feasy & 9 a9

I.AnZ B

Bn3 C

2

3.CniZ D

4. A3 C
Options :
1.1
2.2
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3.3
4.4

Question Number : 103 Question Id : 3421238371 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gz ot fefzorardt 2 yoas 7 ¢

A ATI3 & IB-25 )
B. Arfaz @7 fefamiaa wifimis
C. Afa3-AHa[t =7 fea3dlads
D. ATfJ3d feuret &f 35

Adt feamy &t 92 99

I.AnI B

Bn3 C

2

3.Cn3 D

4. A N3 C
Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 3421238372 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

WAEHS U ®ET UHES maeels A3 faos 787

A. WREETS U3 YRS
B. geAtutet
C
D

MEEEG YSTHS dA-JHS
1 HiHsT

Fdt feamy ot 9 a9
I.A W3 B

ANE C

2

3.Bm3 D

4.CmM3D
Options :
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1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 3421238372 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

MiTdeHE U BT UHEx Wasels /A3 fdas 787

A NTEEES YTHS YA
B.derfilet _
C. WTEHES YIATHS UA-IAS
D. a1 HiH&T

At feamy €t 9 &9

I.A W3 B

2.AM3 C
3. B3I D

4.C M3 D
Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 3421238373 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Y. foous fAw aA® 3fgs ‘I999r’ g9 foog 39 Adt 7a:
A 9T 9%<3
B. drfe-fd3d
C.yds AW
D. Hadre 3 Hl=sl

Adt feasy & 9 a9

I.AnZ B

2.BrIC
3.ANI D

4.Cw3 D
Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 3421238373 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U, foous fAw aA® 393 ‘999r’ g9 fooz 39 Adt 7a:
A 9T %<3
B. dfe-1939
C.y3s TR
D. ¥&dre 3 Hl=sl

Adt feamy o 9 &9

I.AnS B

2.Bn3 C
3.AVMI D

4.Cni3 D
Options :
1.1
2.2
3.3
4.4
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Question Number : 106 Question Id : 3421238374 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-

fefamimax 89 © Avgs feg da-fedt @ vy g9t = AT feasy faasT O

A Yy3HE

B. UTS&BUET

C. WiagHUS

D. UdhuE nigar y33®

AT feamy & ST a9 -
1.A.B.C
2.B,C,D
3.A.B.D

4.A,C,D
Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 3421238374 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-

fefamimaa 89 © Avgs feu da-fedt @ vy g9t @ adt feasy faosT T

A U3YE

B. Y'SABUET

C. WaHUS

D. UJHE »wiE=sT U33TH
At feasy 8= &9 -
W

2B.¢. D

3.A.B.D

4.A.C.D
Options :
1.1
2.2
3.3
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4.4

Question Number : 107 Question Id : 3421238375 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“Uardgt gy = fefzam’ feg g9099s fAw 28 a=s T famt 2t J1ST ot uarg-

=3 @1 AdT feamu g2

A. THI MaATg
B. HBI MiaAT

2. B0, 1)
3.A.B,D

4. A,C,D

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 3421238375 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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“Uardat gy = fefzam’ feg g9099s fAw 28 s Tt famt 2t J13T ot uarg-

<3 @1 AdT feamy g2

A. THI MaATg
B. H®! »iaAd
c. =8 nizAg
D. US'2 wiaAd
Adt feamu St S &9 :

1.A,B,C

t-2

A, 1)
3.A,B,D

4.A,C,D

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 3421238376 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o

5<% o Hods 99 ‘Y=o37 Hgdl fau=s 39 AdT 76

A.6TEH 7 @U 33 A E—FHU GOEL r‘)’*‘:‘éﬁd 3 =f d‘clu:*:n'—lt'HCI T T d< |
B. &4’ ?W}ﬂ:fluc'h'%" T Hd EEL d\:.” Il

e WEW%—MWW&EI &T3T &I th."l

D. Hd&- HE’J’-'*E'I ces feg YU<ol3T ™M™ 3J 3 58 T A1Ed u'd' T

Adt feamy & 9 a9

1.A.B.D

2.AC.D
3.5, C.D

4.A.B,C
Options :
1.1
2.2
3.3
4.4
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Question Number : 108 Question Id : 3421238376 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

&l

5=5 © Hods @9 ‘y=a3v’ Agdl faa= 39 ndi 76

A.®e% T 87 33 A I3-AHT M0z aesad < J9&-Tore! ¥ @ud d= |
B.3=% St Hy wea=t @7 87 a937 ger J|

C WEW%—MWW&& &3T &t uew

D. A9%-A3=! &'<6 29 U=3T nH 39 3 3<% ©F a1fed de J|

Adt feasy & 9 a9

1.A.B.D

]

AC.D
3.8, C.D

4.A.B,C
Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 3421238377 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

7. At AW wisAg ‘it © asdt AR’ 89 foos 38 At 7s:

"

Al
B

3 d|e~5u’t J—TH'd Hﬂm’i—é??ﬁ =) UHMETE?WT@ =i ﬁeaaﬂ% g1
,réch IC-[H Ud% I-:‘)Hl'cl'j HETIH 7 }’Hcﬁdd& ?-ﬂ:f <‘:-rJI oA JdT Hr:ll I«Bd E'T Hdd E’ }-P'FEI'WD-[
d'dl ]’Hdtl' Er h‘E‘ HgTgyg 7 HﬁU't‘h ol Jd! UI

c. fer - H’H“HW]G‘E’Wﬁ-IHd-jIYHT IEHh H:Uﬂo{ﬂ-?ﬁaaﬁzﬂwam
D. &g wige-Ar9 83 It wg9E of eTHSfeasT oF Efenm Ifenr adt AaF feAe

wi3die Hales =9 Tef30Aa te9E &% HdfU3 fegQugrel Awdn < »io3s 33

& HISH® J f3ar J1
Adt feamy &t 8T a9 -

1.A.D

]

A€
1. 8.D

4.B,C

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 116/167



8/29/24, 9:56 AM g28.digialm.com/CAE/viewHtmIPDFAction.action
Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 3421238377 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

37, AaEla W neAg ‘ot © asdt ARg’ 89 foos 38 Adt J8:

i

A, T&g dmu’l‘ﬁwd Hﬂw}éw%um“ ?fﬁﬁ@@ﬁ%ﬂa@ﬁl
B

feg fan le% Ic*JHI\:J:i WUETdYH T Wadde lﬂ:f &Jt JdeT Hdl fEa 3t Hgw & HIunH

s

I mqu- ?—I 52 (gTIE E*T@BLPT a'a?:‘TUl
- fer fam- HH'd it foreia SEAL IEiHh A !(J-jo{:j' ERCRCG) %?%F 5 |

C
D.1E&d }’HdH HH"C' @a-r U} HETJS EFT %"H::il%o{:j’ h'éﬁ (JIC'-"HT ¢ rE:-”H &dt AdI TeAd
»i3dIe Ados 9 fef3ona wa9e &% A3 feggude! AWIR 21 nioss 33

o HISH® T f3ar I
Adt feamy o 89F a9 ;

1.A.D

'.‘l

]

& €
3. 8.1

4.B.C
Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 3421238378 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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‘Curfoar Aedt faoz 37 At I5:

Aruwﬂlduwﬁ[ﬁ?weaaﬁaaﬁrm
B. E?ErlﬁaT EEﬂHT hﬁ’ UHTEETE fo3Ha Hi=a ) HE‘:IILH %"d:ﬁ't‘c" T5 |
c. feg far 3o& Er w33 @ﬂ—tr Uss Ueda 2 HOS3T 3 odAT ST T
D. feT fan mae © B899s ural Wﬂﬁga‘@uﬂ?ﬁal
At feasy &t 3= a9
I.AM3 B
2.ANM3 C
3.ANWI D
4. B3 C
Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 3421238378 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
‘Curfaar Aadt faoz 39 At 75
a) -~ fa¥Wal . fal =
Zd UdH'IH M3 M £ddil ddaT J |
. » = Sy on T L) - L]
feg Yigt, edlist »i3 Udiast € wift3Hd Hies & Hafu3 T937<! I5 |

i)

lEd Io{H JII&T & ni3 3 BAY uss uas I HI33T % t‘dH"dt‘I JI

ik

A.

B.

C

D. feg far Age ?Ha'domwm@a@uﬂ?ﬁm
At feasy St 8= a9 -

I.AnS B

An3 C

I

3.AVMI D

4.Bn3 C
Options :
1.1
2.2
3.3
4.4
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Question Number : 111 Question Id : 3421238379 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gt HOT I
A |TRT = afaar| | |&Tr
B. |[ol& =T drfdar | 1. |Tarat
C. |&a = afaar | n. |8t
D. |3 T difde | Iv. |Be=

Aa®U w3 ni9g Aadr udas = Adt fies 9

1. A-IV, B-III, C-I. D-II

[

.A-IL B-II, C-III, D-IV

3. AL B-IV, C-1, D-II

4. A-1L, B-I, C-IV, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 3421238379 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

il AT Il
| =
A |Trg = afasT| 1 |&ar
B. |al& =T arfgaT | 1. |Tarat
c. |3 = afaer | n. |= 8t
D. |3® = aifaeT | v |Bes

Aa®U M3 »idg Aadt §udas = Adt fies 9

1. A-IV, B-III, C-I. D-II

2. A-I, B-II, C-III, D-IV

3. AL B-IV, C-1, D-1II

4. A-1L, B-1. C-IV, D-I1I

Options :
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1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 3421238380 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HeT | il
A |AfsmmaTg = fagH=ardt wiar . |Uzgs
B. |AfgnwgTg T HiloaH®a nidl i |ZHEN T BEE 3 S@SH
2 Ho'g
C. |AfSn™aTd ¥ HUA-YSTIAHSS widl | Il [3af@x fusT
i = 5 -

Afsnag © AJH-HIJH®A A9 ~ _~ o oo
D. : L = v |nmarg: 9= 3 fedd

THI®

Suda= = At fies T

1. A-IIL. B-I, C-IV, D-II

]

CA-IV. B-IIIL, C-11, D-I
3. A-L, B-II, C-III, D-IV
4. A-I, B-III, C-II, D-IV

Options :

1.1

2.2

3.3
4.4

Question Number : 112 Question Id : 3421238380 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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gl

HOm I

A |AfgmmaTg T fagH=ardt wiar

:}-

B. |Afsnmagrg =7 qulfjr‘:nﬂbﬁo{ YAdr

FTHE! BTH HO'd 3 S&SHR
EICH

C. |AfSM™ET ¥ HIA-YITAHBA Hidl

o IS © AoA-AY9H&s HI'9
| |=HIS

I 9 3 f=0

Syda=s = At fHe s T

1. A-III, B-I, C-IV, D-II

I

CA-IV, B-III, C-II, D-I
3. A-I, B-II, C-III, D-IV

4. A-1, B-III, C-II, D-1IV

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 3421238381 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

HOT | el
nigeTe HS &R

fag<H grt | 1. |HegE e SisH

% gEHT| . |Hagg
L U RV GRS

g yfgers ASdr Sudas = Adt s O

1. A-IIL B-IV, C-1, D-1II

olo|w|»

2. A-1I B-I C-IV, D-III
3. A-IV, B-1, C-III, D-11

4. A-1I, B-1II, C-1V, D-1

Options :
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1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 3421238381 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

L HOT Il

ngee HB &

Togur SHT |1 [raae nie Tan
% AT | I |HIgg
yal 3a | V. |fdasnrg

g yfgerg AgdT Sudas = ATt fiss 9

1. A-IIL B-IV, C-1, D-1I

oDl =

2. A-1I, B-I. C-IV, D-III
3. A-IV, B-I. C-III. D-II

4. A-II, B-III. C-IV, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 3421238382 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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il il
ﬁ= " ﬂ ﬁ =, ﬂ
A |UST ST EST | 1L [l
B. |5 aHd I [T nisy
c. |33t =@ dar| n. [g9rEds fAy
D. |faztit V. |g®<3 aradi]
Suda=s = At fHe s T

|

(]

3

4

1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 3421238382 Question Type : MCQ Option Shuffling : No

.A-IIL B-III, C-1IV, D-1

AL B-II, C-1, D-1IV

CA-IV, B-111, C-II, D-1

CA-L B-IL C-III, D-IV

Options :

Correct Marks : 2 Wrong Marks : 0

GEW HOL I
featart featatara
A |lusEEtast | 1L [prendEls
B. |g9¥ IHT NG CRATCE
c. |33t @& dor| n. [a9Eds Ay
D. |faztert IV |g®%<3 argdi]
Buda= v At fies T
1. A-II, B-III, C-IV, D-I
2. A-III, B-II, C-1, D-IV
3. A-1IV, B-111, C-II, D-1
4. A1 B-IL, CII1, D-IV
Options :
1.1
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2.2
3.3
4.4

Question Number : 115 Question Id : 3421238383 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

L Ml
I

YASH
A |HgT AIaT | |A9HTE yIHTEl
B. |HET BT I |ugHHTS fRY AT
c. |Hae TEad8 N ECRZEIFIRES]
D.

HET HA® »i3 AQU| IV, |[UIHHATS fHW Efarer

Buda= = At fHes T

CA-IV, B-III, C-II, D-I

[

2

. A-IIL B-1, C-IV, D-1I
3. A-IL B-III, C-1, D-IV

4. A-IV, B-1. C-III, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 3421238383 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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e il
UASH U
A |TET ASAT | |Aeds yaHidl
B. |HEE BiE I |ugHHts THwW AT
Cc. |Hae 2=ATd8 . |2 nEslasdl
D. [HEe:Ha®U ni3 AJY| V. [UIHHTS THw larar
Budas = At fues T

1. A-IV, B-I1I, C-II, D-1

(]

. A-IIL B-1, C-IV, D-II
3. A-IL, B-III, C-1, D-IV

4. A-IV, B-1. C-III, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 3421238384 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

eI il
A |FISFEE | 1 |02
B. |gar3 If<=A]| 1. |03
c. |33 3B98 | 1. |16
D. [3a3 A= | v |18
Budazs T At fuws I -

1. A-I. B-II, C-IV, D-III

[

. A-IIL B-I, C-II, D-IV
3. A-IL, B-1, C-III, D-IV

4. A-IV, B-III, C-II, D-I

Options :
1.1
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2.2
3.3
4.4

Question Number : 116 Question Id : 3421238384 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g28.digialm.com/CAE/viewHtmIPDFAction.action

HOT | HOT Il
ELIE] gar < farsst
A |FaZ FET | 1 |02
B. |93 If<=H| 1. |03
c |Fas 3895 | |16
D. |3z o= | v |18

Buda= = At fHes T

1. A-I B-II. C-IV, D-III

2. A-IIL B-1, C-II, D-IV

3. A-IL, B-I, C-III, D-IV

4. A-IV, B-11I, C-II, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 3421238385 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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G gl I
U39 Cap
A |féa B | |ufesT
B. |famaT I |JreTg
C. |»r& fHw | . [g7ar =7 9T
D. &g v |[BF3
Suda=s = At fHe s T

1. A-II, B-1, C-IV, D-1IT

(]

CA-IIL B-IV, C-1, D-1I
3. A-II, B-IV., C-III. D-1

4. A-IV, B-III, C-II, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 3421238385 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HOT | HOT I
U39 Cal
A |féd B | |ufesT
B. |famaT I |dreTg
C. |nrm& fHw | . [g7ar =7 9T
D. |a7d v |BF=
Buda= v At fies T

1. A-II, B-I, C-IV, D-III

[

CA-IIIL B-IV, C-1, D-T
3. A-II, B-IV, C-III, D-1

4. A-IV, B-III, C-II, D-I

Options :
1.1
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2.2
3.3
4.4

Question Number : 118 Question Id : 3421238386 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HeT I il
B

YRS
A |a®H & ggwr3| 1. |afded TRw qu
B. |a®H © UaT INEGHEUY
c g5t udgg N |EEte THW
D. |&= ATt v |l W u=H

Buda= = At fHes T
1. A-TII, B-II, C-IV, D-I
2. A-III, B-IV, C-I, D-1I
3. A-IV, B-I, C-III, D-II

4. A-II, B-IV. C-III, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 3421238386 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 128/167



8/29/24, 9:56 AM

g28.digialm.com/CAE/viewHtmIPDFAction.action

iR il
YRS B
A |a®H 2 ggHT3| 1 |afded TRw qu
B. |g®H © U&T I EGURET
c. |93t uda I |gwsElT TR
D. |3= Mt Agf v, | fipargT THW u=H
Suda=s = At fHe s T

1. A-III, B-II, C-IV, D-1

(]

CA-IIL B-IV, C-1, D-1I

3. A-IV, B-I, C-III. D-1II

4. A-1I, B-1V, C-1IL. D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 3421238387 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HoTI Gl
fe-urss =t
A |Uy-fegar | |3TaT fRw
B. |diaT TIT I |T98Te TBITIL]
c. |Bater 23| 1. [Hedls feara
D. |THHE UEd v |AfSed fai&®
Budazs T At fuws I -

1. A-IV, B-1, C-II, D-IIT

[

-A-IL B-IL, C-III, D-IV

3. A-IIL B-IV, C-II, D-I

4. A-II, B-1V, C-III, D-I

Options :
1.1

https://g28.digialm.com/CAE/viewHtmIPDFAction.action

129/167



8/29/24, 9:56 AM g28.digialm.com/CAE/viewHtmIPDFAction.action
2.2
3.3
4.4

Question Number : 119 Question Id : 3421238387 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HOT | Nl
Ife-yrss =t
Uy-feger | |33 fRY
digr ¥9< I |TI8T6 TBII<
S=Ter 331 | 1. |HeAlS fezm
AT Ueg v |Afgeg fas
Budas = At fies 9 -

1. A-IV, B-1, C-II, D-III

Slo|Z (=

2. A-L, B-1I, C-IIL, D-IV
3. AL B-TIV, C-11, D-1

4. A-II, B-1V, C-III, D-I
Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 3421238388 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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HOT | ot il
A |3I® T3 I 1950
B. |33t fagat 1. {1943
c. |7 3edly of fae <t 1. {1970
D. |a T A=A V. {1935
Budas = At fues T

1. A-IV, B-I1I, C-II, D-1

(]

-A-I B-1IL, C-III, D-IV
3. A-IL, B-IV., C-1, D-III

4. A-1L. B-1. C-IV, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 3421238388 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

eIl el
Wifir Y=w Ifes afe-yrsat| yams-Tgr
A |39% U3 @5 . {1950
B. a3t fagat 1. {1943
c. |H 3ediy of fae <t 1. {1970
D. |adH 3 JE=A V. [1935
Budazs T At fuws I -

1. A-IV, B-III, C-II, D-I

[

-A-IL B-IL, C-III, D-IV
3. AL, B-IV, C-1, D-1II

4. A-11, B-I, C-IV, D-III

Options :
1.1
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2.2
3.3
4.4

Question Number : 121 Question Id : 3421238389 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HOT I ]
sex-THIdY mi3 TFT 5
A |8 372 (As You Like It) 1949 | I |T9w13 THw 10r®
B. |AN © & Ja1 (Mile Stone) 1950| 1. |fso® fAw 97
C. [ufa®t H3 (Ghost) 1944 . [Has
D. [HYPAT (Flies)1975 v (7. 7. »id®
Sudas = At fues T

1. A-IV, B-III, C-II, D-I
2. A-II, B-IV. C-III, D-1
3. A-I, B-III, C-IV, D-II

4. A-TIT, B-II, C-1V, D-1
Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 3421238389 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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HOT| il
sea-fAady mi3 =g 5
A |fAS 32 (As You Like It) 1949 | I |T9w1s fHw foi®
B. |AH' 2 38 Jd1 (Mile Stone) 1950 1. |fou® THW IR/
c. |ufa®t H3 (Ghost) 1944 . |Has R
D. |[HYIT (Flies)1975 v (7. 7. wii®
Budas = At fuws T

1. A-IV, B-III, C-II, D-I

b2

. A-IL B-IV, C-III, D-1
3. A-L B-III, C-IV, D-1I

4. A-IIL. B-II, C-IV, D-1
Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 3421238390 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Llﬂél' O
afex @ 3T ofes 2 dez
G, | e R . |E3g 3T, »3 mEEHET, Ul feee
' : |EE 3 e g93= ugeE @@ JeT J
A3 HI™ 2%, A9, fTee® 3 A3 @@ Jer
B. |dlg-yrz I [Ji _ o
YH JJd gIHE der J|
. vifsHat, Elgueel, gy gut T@ 3 Fee
c. |didgems I | &5 s dor 3
x oH® Fret T, 937 3° oS, Idts, AYT 3
= |8 Ve vy aea I der 9
Suda=s = At fHe s T

1. A-IV, B-1II, C-II, D-I

2. A-II, B-IV. C-III. D-1

3. A-IV. B-II. C-1. D-III

4. A-IIL, B-II, C-1IV, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 3421238390 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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il O
Be-nirgrdin igHTa —E
G | e R . |B37g 3T, »3 mEEHET, Ul feae
' : |EE 3 e g93= ugeE @@ JeT J
A3 HS™ =51, AY3, [Tees 3 HY @ d
B. |dlg-ymz I (Ji _ o
YH JJd FIHT der J |
. nifgHTat, Eloyeel, gy gut @ 3 ge
c. |dige3 I |55z 2 Fer 71
x oH® Fret T, 937 3° a3, Idts, A9t 3
= |8 Ve vy aea I der 9
Suda=s = Adt fHe s T

1. A-IV, B-III, C-II, D-I

2. A-II, B-IV. C-III. D-1

3. A-IV, B-II. C-1, D-III

4. A-IIL, B-II, C-1IV, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 3421238391 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT }ga"ru
-3 =t
gg-8d 3 J8-HJ_34, ?HHH%H%)W’T 7537 B 9 - 5
o Hﬂ'HGdgH'h 0-{1:' C{t"c‘:ll | HTJ??-FFRU
B. |U93T 3 &g =T, Jagt U 9| I. mtﬂii 2
o | T rivE fe@H St fiet & HE Hifonrr fag* off fofe? || |wifi
B e
5 JT WI' & UJSET HAG® 837 J,dE Ufdgedr A, HE - RIGELI
|83 H3 Ru3 a9 aEt 91 R

Syda=s = Adt fHes T
1. A-II, B-1II, C-IV, D-1
2. A-1I1, B-1IV, C-11, D-1
3. A-IIL B-I1. C-1. D-IV

4. A-IV, B-1II. C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 3421238391 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT };—Iia"ru
-3 =t
gg-8d 3’ J8-HJ_34, EHFM%HT‘E?W?‘ 7537 3 9 - 5
o Hﬂ'HGd?H'h c-{t' C{t"?:ll | HTJ??-FFRU
B. |U93T 3 &g ST, Jagt Ut 9| I. mtﬂii =
o | T rivE fe@H St friet & HE Hrfonrr fa* off fofe? || |wifir
& e
5 I WI' 3 UJSE HAG® 837 J,dE Ufdgedr AS, HE " RIGELDY
|83 H3 9Ru3 a9 aEt 91 - H{Hw

Suda= = At fies T
1. A-II, B-II1, C-1V, D-I
2 A-HL BV, C1, D=1
3. A-IIL B-I1. C-1. D-IV

4. A-1IV, B-1II. C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 3421238392 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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HOT | el

A |Tm = ufosr g ey

B. |[AT AT niEvmg fea Ot fer &® ASfus d=| 1. |I<i=

C. |I® = vif3H g . [H3s

D. |7 3% © I3 g feg Taarfent A< V. |HH®A®
Busas = At fuws T

1. A-IV, B-III, C-II, D-I

b2

CA-IIL B-IV, C-1, D-1I
3. A-L, B-III, C-1IV, D-II

4. A-IIL, B-II, C-1IV, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 3421238392 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

il il

A | IS T ufgsT g | |H&3T

B. |[7e AT nimwmg feq Ot foif & ASfus d=| 1. |I<ie

C. |am® = nifsH fimie n. [H3®

D. |7 9m® © 79 fimig oo Togfenr o= v, | HAEAS
Budazs T At e 9 -

1. A-IV, B-III, C-II, D-I

B

CA-IIL B-IV, C-1, D-1I
3. A-I. B-IIL, C-IV, D-II

4. A-IIL, B-II, C-1IV, D-I

Options :
1.1
2.2
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3.3
4.4

Question Number : 125 Question Id : 3421238393 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HOT | el
Uts L (Tt

HIT® . (fHgar Afagt

U HY 1. |[HAT U8 = ufos fdAara
|ofew g9ugT<| v |AoeE]

Guda= = At fies T

1. A-IV, B-III, C-II, D-I

olo|w|»

[

.A-II, B-1, C-IV, D-III
3. A-L. B-IIL, C-IV, D-II

4. A-IIL B-II, C-1V, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 3421238393 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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HOT I Hat I
A (Ul L |dTT
B |HIT® I |fHe=r Arfogt
c. |ew® "9 1. |[HAT U8 = ufos fdAaS
D. |Tfed gayd=a| v. [Foal
Busas = At fuws T

1. A-IV, B-III, C-II, D-I
2. A-1I, B-1, C-1V, D-III
3. A-L, B-III, C-1IV, D-II

4. A-IIL, B-II, C-1IV, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 3421238394 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

At sedt § YT He-<y ©f fefsora-givasT feg use:
A. BTH &3—JgAIs THW
B. HIJd SHT J--mTSHATS
C. e B UB--a%=3 qrJdit
D. §J ¥ol ti—aafens fAW arsr
Adt feamy <t 9= 9 :

1.D.B,A.C

2. B C.AB
3.B,A. D, C

4.C.D.B.A
Options :
1.1
2.2
3.3
4.4
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Question Number : 126 Question Id : 3421238394 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

At 3 3 ydHe-<q ©f fefsora-givasT feg uge:

A. BTH 8ad—JIAds fRu

B. HIJ9 "IHT J--113HATS
C.¥=d & g&--g%=3 grgait

D. §J ¥of U—aafens TR drAs

AT feasy &t 92 a9 -
1.D.B,A.C
2.D,C,A,B
3BAD,C

4.C.D.B.A
Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 3421238395 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

35 feu godt-Aafont § yars-<g ©f fefsoma-giasT feg ugs:

A.TH AY - A% fHW
B. o TUH—_&s=39 fHw
CH’J—PEF’H—‘H_:{ﬁ:IMHH
D. HLI':J' Hc_l'd Aol hm
At feamy St 3= a9 -

1.D.B.A.C

2. B C.AB
3.3.0,AC.B

4.C.D.B.A

Options :
1.1
2.2
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3.3
4.4

Question Number : 127 Question Id : 3421238395 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Jo feu godt-Aafontt § yams-<g ©f fefsoma-giasT fev uzs:

A.TY AY - Aa% fAw
B. oH TUHT_s<37 fifw
CW—HB’WHH
D. Hudt & g d—aad THW
Adt feamy & 3= a9 -

1.D.B.A.C

B

B . AB
LA C.B

4.C.D.B.A
Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 3421238396 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

393 feg At AsHfent © yen o fefsora a&-av J
A. gl

B Hod=g<!
forst

Dmﬂa#’r
Adt ey o 89F a9 ;

LG, B.A D

]

ABCD
3. D.B. A C

4.D.C.B.A
Options :
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1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 3421238396 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

393 feg Aet TASAENT & y=r & fef3ara a®-gH J

A. gt

B. HdJ<de!

c. Tom=zt

D. 3dF
AJt feamy & 9= a9
|.C.B.A.D

2 A B.C.D

S DB ALC

4.D.C.B.A
Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 3421238397 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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UAtET Bt a@it B fef3ama a%-gH J:
A HB3G ¥Q
B. d&H g91¢

C. 29 24l
D. H'J JHS

Adt feasy & 9 a9

1. DA, C, B

f-2

B, €A D
3.D,C.B. A

4A.C.D.B
Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 3421238397 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

UAreT Bt a@ it & fef3amra as-aH J:
A H®3G ¥
B. dI®H g491¢

C.2J¢ SdI9
D. H'd JH&

Adt feawy & 9 a9

1. DA, CB

f-2

B, A D
3.D,C.B. A

4 A C,D.B
Options :
1.1
2.2
3.3
4.4
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Question Number : 130 Question Id : 3421238398 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Jo fednit yASd € UaTHs = fEfsoAa a-aH d

A UdAET g9&f =7 foaA 3 fed/A—UH yam R
B. UA™S 3THT € (SH—gol Y
C. UrTsT g&1 = fef3oH—fimiar TRy ueH
D. UAET 9&f 27 (239H—H3 THW Ay’
At feamy &t 83 &9 -

1.B, DA€

B

JEAB.D
3.D,C,B,A

4.A.C.D.B
Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 3421238398 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Jo fednit yASa € UaTHs o fefsaha I&-aH d

A Urardl g8t w1 f6aH 2 feam—UH UaH fHw
B. UAH $THT € {SH—Eol Y
C. UrTdt g8t = fef3oH—fmiar TRy ueH
D. UATET g% @7 (B30 A—H3 fRw A
At feamy &t 8% &9 -

1. B, DA€

]

A B.D
3. 0,C.B. A

4A.C.D.B
Options :
1.1
2.2
3.3
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4.4

Question Number : 131 Question Id : 3421238399 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

J6 189 Hamut 8 T30 I&-oH WgAY 92 :

A. STHTET AHIH
B. Widasadda
C. VAgSHG

D. BIA-UIH

At feasy &t 92 a9 -
1.D,B,C,A
2.D,C,B,A
3.B.D.C.A

4.4, B,C, D
Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 3421238399 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

J6 189 Aamut 8 fEf3TRd I&-oH WgAY 92 :

A. FTHET AHIE

B. Wid&S g3

C. MANEHG

D. ®d-Ud®

AJt feamy & 9= a9

1.D,B,C,A

2.DC. B.A
3.B.D.C.A

4.4, B,C, D
Options :
1.1
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2.2
3.3
4.4

Question Number : 132 Question Id : 3421238400 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(o QO T

g%<3 argdit Tt YASS & TefSuAa &-gH »migHd 98

A ASft THT HU
B. UA1& f9gd
c.fén = u3

D. HIH T&f niy
Adt feamy o 9T a9 ;

1.D,B,C,A

[

O, B.A
3.B,D.C.A

4.C.,D.A.B
Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 3421238400 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(o O

g%<3 argdit Tt YRSt & fEfSuAa J&-9H »igHd 98

A ASft THT HU
B. UA1& f9gd
c.fén = u3

D. HIH &1 iy
Adt feamy o 9F a9 ;

1.D,B,C,A

t2

.D,C,B,A
3.8, 1D C A

4. C.D.A.B
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Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 3421238401 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HIAS THY Aot Einff are-yA3al 3 fEf30AA I&-oH wigHd 92 ¢

A TEIHT

B. Ug® did 3 &a1 qnira"

C.dd faa uig »igg

D. HJ" HIAT HI &g
Adt feamy @ 92 &9 ¢

1. DB, €A

2. B C.B..A
3.B,D.C.A

4 A C.D.B
Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 3421238401 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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HIAS THY Aot €t ae-yRsdat 3 fE3TAA I&-oH WigHd 92 !

A IEIEY

B. Ug® Hig I &l g’
C. 39 Tas ug wigg

D. HI" HIA= 13 T

At feasy &t 92 a9 -
1.D,B,C,A
2.D,C,B,A
3.B.D.C.A

4 A C,DB
Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 3421238402 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
SHd AH'® © 3 &7 [EfSTHd &-gH J:
A G238
B. Hd™S
C. A3 dITd &d
D. gdI<™a
- -
At feamy & 9= &9 -

1.D.B.C.A

2. B C.B..A
3.B,D,.C.A

4.C.,D.A.B
Options :
1.1
2.2
3.3
4.4
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Question Number : 134 Question Id : 3421238402 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SHJ 9H® © aent o Bf3uAa ae-gH 3
A. =38
B.HEA™S _ _
L H::i J=d &d
D. 92 @&
Adt feamy & 3= a9 -

1.D.B.C.A

2. B B.A
3.B,D,C,A

4.C.D.A.B
Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 3421238403 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A3 fiw 78 Tt yrsat © yams © fefsoma as-gH 7t

A UAET afe AoHET

B. AH Tt U@t

c. Afafsngg

D. 3¢ A& 3 HIT higse
At feasy 8= &9 -

1.D,B,C. A

A BRD

3.B,D,C,A

4.C.D.A.B
Options :
1.1
2.2
3.3
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4.4

Question Number : 135 Question Id : 3421238403 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A3 fiw 7Y Tt yrsat © yams @ fef3oma as-aH 3¢

A UAET AT FIHET

B. AH I yzrasing

C. Afaf3nag

D. 32 I 3 HIT wigd<

At feasy &t 92 a9 -
1.D,B,C,A
2.C,A,B,D
3.B.D.C.A

4.C.,D.A.B
Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 3421238404 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[

J6 18y fere fosat 3 fEf3uAa a&-qH niaAg ey

A BaAEGH

B. »{dAZ

c. {3z eafes
D. T9% HIaA

Adt feamy o 9 &9

LB, A DL€

2.CAB.D
3.B,D,.C.A

4.C.,D.A.B
Options :
1.1
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2.2
3.3
4.4

Question Number : 136 Question Id : 3421238404 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Jo fey fepe f93af 3 fefsuma as-gH nigAs fad:

A BEAEIGH

B. W[dAZ

c. faamiz =afes
D. ITI% HTIAH

Adt feamy & 9 &9

1. B, A D6

2.CABD
3.B,D.C.A

4.C.,D.A.B
Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 3421238405 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Ef d'.:il EUGE: }’HOE't'J-ﬁ =10) U'«:EHIG{'ﬂ I H-a:IIIcJ?’J'I'r ?‘? UdHdl'd fiss © An oHTd
3T o5 oH EE f@ﬁ-tf

A.fex fee 978z €t -a9379 fHw da®
B. 3% ®d—a®e3 HW eI
C. WHT FE-asad fAw Ag

D.Hfgd 3 i —Aas fAwr
At feamu <t 9= a9 :

1.B.A.D.C

t-2

A BD
3 A B C.D

4 C.D.A.B

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 3421238405 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ef'd:il UGE: }Hd't'l-ﬁ =% U‘CEH|0{‘:§ qdE - J-I-a:IIIrJi’?"I'r ?‘? UdHdJ™d fH®= © AN YHAHTT
Ef3TAa - oH =9 1:557:[

A.fex fee g8z < 39379 fHw da®
B. 3% ®d—a®=3 AW fe3x
C. WHJ JE-J&A9 AW Ag

D. Afad 3 i—Aas fAw
AJT feamy €t 9T a9 -

1.B.A.D.C

]

AN B.D
3.A.B C. D

4C.D.A.B

Options :
1.1
2.2
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3.3
4.4

Question Number : 138 Question Id : 3421238406 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

J6 &4 ASdaTHnT & fEf30TR] I%-aH NigAd USTE:

A. HI™ IAT ASIEH-—- S&%I™T HAIA]
B. hﬂ:ﬁ %‘ﬁf aﬂ—ﬂ? frw T9¢
c. {5988 fag<a-—afvsds frur

D. HdT gA @39T---Hoz fAw A1

Adt ey o 89F a9 ;

L. BA DL E

t-2

JEAB.D
3.8, D A C

4.C.D.A.B
Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 3421238406 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

J6 184 ASIaTHNT & TEfSTTAR I5-gH NiGA™T UET2:

A. HT™ IAT ASIE™HT--- %I HJA]
B. hﬂ:ﬁ 1"5?? HTF—_ﬁET fAw T9v

C. 5988 fsa=a-——algsns fHu
D. HdT gH @39™---Hog AW A/

Adt feasy & 9 a9

LB, A DL E

[

C.A.B.D
3. B, D A C

4.C.D.A.B
Options :
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1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 3421238407 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

USTTHT UASE © YTHA-gH ©F AdT SasU UgTe:

A. ¥ AHTJ-—- HIG Il
B. g3 &didl-—- AHY® AWIT i
C. Hd HAH o odt---gfeg It
D. 302 faug afo-—-Auus

Adt feamy & 9= a9

LB, A DL E

2.CAB.D
3.8, D.AC

4.C.D.A.B
Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 3421238407 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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UJSTHT UASA © UATHA-gH &7 Aol <oy UgTe:

A. ¥ AHTJ-—- HJG dee]
B.%;'E’W}——— AU HUST )
C. HJ HAH o o dt---gfeag 3=
D. 392 fau§ afo-—-Huus

Fdt feamy &t 9= a9

LB 1L E

2.CAB.D
3. B, DA C

4.C.D.A.B
Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 3421238408 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

afded TRw Ju € @97 &7 yaHs-3 »idAS AT feasy fqasT J:
A H3Y T @79
B. Urtg It Igt
c.fous @t @9
D. Bd =t
Adt feamy &t S &9 :
1.B,A,D,C
2. B, D, ALC
3.D,B.A,C

4:C. DA DB
Options :
1.1
2.2
3.3
4.4
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Question Number : 140 Question Id : 3421238408 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gfdes fRw Ju €t T9F & yaHs-] nieAS A feasy faosT J:
A H3Y 9 =19
B. Urag Tt gt
c. fos Tt =19
D. ®d =Jt
Adt feamy ot 9= 99

L. BA DL E

B

B, DAL

s

0, B A G

4.C.D.A.B
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2

Sub-Section Id : 342123331
Question Shuffling Allowed : No

Question Id : 3421238409 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension

Jo foi U9 © »og 3 YR T yrst T At feamy g

WEPFHIT{ nigfaasreTe! qife grgret feg mlmm UATET {:d'l%‘ H"'l;eh' wOfea 7l=a
Y Hies WESH-TETE = M%ﬁ?ﬁﬁm o AT d9el 71939 fedd] d'l~'€' U feg feg
Heooa fef3oAa waag 2 foniug Aegdg & HJdrs ©F AUaT JdI<t O I1WSH 3 miaSH
%WWW}UIW@B’@FM'@&?@HﬂHEWU}%FWHE—
LEdI:iI'%’ﬂI grgr = &H 2 1%37 ﬁj’mrr Ulltdltﬁl'#: =1 g <1 fesr Sfar 9t feg afes
WYE Ba1 318 ATHIW 3 Adiigers! = fedu = a9el J i3 FHIASTE! AHT € AETJaT
@r Iéﬂc‘;oﬁ‘-ﬁ'dl nEdH_dF I&3HA AUS ddt‘l i) GEE wW3Et ud TR fesamy =t
9387 2UJ AHIBI »i3 99 gdt I, fer grgr g aﬁ s U3y d'1—|r‘\|~50{ Wegl 2f AT
BET T4 B3<8 Us o FHWA wE9E © ufdedss ©F 8 IHaIsd Gd-digel @

feamarst oy fagns feu =391 H3EST I8¢ Ta|

Sub questions

Question Number : 141 Question Id : 3421238410 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

Frfe gt feu fies wu9y o UAaat:

L YUaRTE »3 migfsaseret afe gawet fog Hiws wa9y © fegfod umat &t ot
UHIET g2t I

2. yiigieTet »i3d mimfeaserdt arie ardret feg dies waay & ud »i3 AI® uAat
2F UFardt gat 9

3. YUAIRTE! »i3 wmigfaaset Jife gl feg fAies € Afes m=SH-waeg ot
URAST def J|

4. Ffe3T feg w3H-tg9g © Afe® UTAat ¥ URAST &dt 7 AdEl |
Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 3421238411 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

59 feoddl arfe o9 feg Ga9g Tf Uraat :

1. 9379 feegdt afe uar fag d=% fonwast © nisH-wa9E <t URaTdt 98t J|

2. 9579 feegat afe ugT feg HY 39 3 »iSH-WESH HE9E o UASTGT J&T J |

3. FE3T =W Ales ©f m3IEHET TA3fEasT & It qUHs It J|

4. v"3H WE'IY ©f UHSIT ada dfesT feg Aad ©F AHET Uer 9 Jigt 71

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 3421238412 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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o,
gs9 fevadt afe oo i3 s=e-yaster<t aar

1. 959 feeddt arfe uar g a=-yasteet uar & aH 2 fd37 fapur J |

2. 7879 fewddt arfe urgr & JoRe=T arfe urgr = & I fazT famr T

M,

3. g5 feegd! afe urar 3 gHTAS=T afe urar @ &4 2t f237 famrr T

4. 7959 feesdt arfe u9r 3 yarsteet anfe orar =7 & &t f3T famr T

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 3421238413 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g39 fewadt arfe gar »i= feasa®st »iedn

1. 959 feeddt arfe urdr AHI™ w3 Adiiee<! & Uy yIet J|

il . SO 4 | (] [ Ll i T L ="'
2. d37d 1€<ddl dfie UdT [Ead&™™l MTEdH 3 1dATdT odel Jd

3. 9579 feegat afe ogT feaamdt wiedy 2 & 3HA AT0ET Jde! J |

4. 79579 feegdt arfe U9gr o=® ni=HIR HAfent § o U S9et I

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 3421238414 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gz9 feeddt arfe oo feu fesamdt I3+

1. 9379 feegdt afe urgr feg fesawmdt 9367 BigHET sfod feg Ug I<t T

2. 9519 feegat afe ugT feg feaamEt 9367 ARIET »ig Jugdt T

=, - my

3. <37 foH St feg/9uaT @ I&=HA JY @9 UH d96 € Wdl adI JeT

4.9579 feeddl arfe g9 des wifdAr €F =& 3 Jf yare Ja9<t J|

Options :

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 159/167



8/29/24, 9:56 AM g28.digialm.com/CAE/viewHtmIPDFAction.action
1.1
2.2
3.3
4.4

Question Id : 3421238409 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension

J5 fod U9 © »o9 '3 U'R a2 yHe' © At feamy gE:

UTidiE=t W2 wigfeas=e! aife ga=’ feg m'um{ac UATET aw; H%‘t‘h wgles AlE6
T Afes n3H-tEgE T wifsfonias ot AusT a9dt 31989 feogdt anfe oo feg fog
WWW?WWEM@H@W}MW?W
ea%wwm?mw@gfsﬂmqyﬁwe‘aﬁaﬂa?fzf’r%ﬂwaﬁ—
Mdl:ﬁl%‘t‘l orgT @7 &H %Dr f?—a” ﬁjTYHT Ulltdltﬁl%' o1 g Err’r fezT g It oo afes
?Hﬂ.rc‘-:‘ =dl 878 HTHI™ 3 Aafgear = fegg EFT Fger T nis FH—F_FI?T:FT AH < AgTUaT
% Iéf{‘:nodn‘-ﬁ'tll WTEIH_ € IBIHA AUS ddt‘l Cil ad wSEt ud A fesawy of
938" TUJ AHIB »3 JU 391 J, feR uraT & aﬁ wE U3y d'Hr‘\Itﬁo{ gl 2t AT
el T 838 Us fd FHWA wE9Y © uUfdedss ©F 8 IHaIsd Qd-digel &
feamarst Tog fagne feu =391 H3EST I8¢ Ta|

Sub questions

Question Number : 141 Question Id : 3421238410 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks :

Jfe gaet feu Ates w9y o Upadt:

L. JU==T »i= nigfeaz=e! Jife oo feg dles gggy € feafdg uAar <f of
UFardt Jet 91

2. YUaITEl nid vigfeas=ret e uraret 99 Hiss wEey € Sud »i3 AIs uAS
o URerat 9ET 9

3. ULIdETE! »i3 niigfeasewt afe gget feg les © nfe® wisH-wgag ot
Urardt J=t J1

4. fezT feg nisH-wg9g © Afe® utATgt oF URadt &4 7 Ad=T|

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 3421238411 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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as9 feogdt afe o9 feg w9y < ugardt :

1. 9579 feegdt afe udr fag d=% fowast © WsH-wa9E =f URsTdt 981 T

2. 759 feegdt afe uar feg HY 39 3 »iSH-»aSH HE98 ©f URSTT 9&T T

3. FE3T = Ales € n3IZHET TASEEST 3 I UHE JIeT I

4. W/3H GIETIE ©F UHSTdT adol dfe3T fog Hotg of AH T e 9 Tiet J

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 3421238412 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g3 feuddt arfe oo i3 se-ydrEter<t gar

1. 959 feeddt arfe uar 8 a=-yaste<t uar & a1 2 fd37 famrr J |

2. 7579 fewddt arfe urar & goRe=t arfe argr = & < fasT famr I

i+,

3. 939 feuddt arfe urgr @ gHA=E! arfe urdr & &1 21 237 famrr J1

4. 7579 feeddt arfe uar 3 yarsteret arfe urar = & < fasr famr 3

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 3421238413 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gs9 feeddt arfe oo w2 fesasst niean

1. 959 feeddt arfe urgr AT w3 Adiiae<! & Uy yaet J|

2. 9579 feegat afe ugT feaamdat wiedlg 3 fasar aa<t 71

3. 9579 feegat afe ogT feaamdt wiedy 2 & 3HA A0S Jdet J |

4. 79579 feegdt arfe Ugr o=® ni=EHIR HAfent § o U a9t I

Options :
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1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 3421238414 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gz9 feeddt arfe oo feu fesawdt I3+

1. 959 feegdt afe uar f=g fEaamat 93&T AHET Bfog feg U det J1

.g3579 feegdt afe ugr feg fosamdt 9367 AHIET »i3 Jasat T

]

3. 9f<e3T faH St fegrauaT @ @ =HA JU @9 UH d96 € Wdl ad1 JeT

4. 9579 feeddt arfe g9 =8 wifdrr €f =& 8 Jt yare Ja9<t J|

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 342123332
Question Shuffling Allowed : No

Question Id : 3421238415 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension

J5 feu U9 & wog '3 Y I yFet © At feamy g2

Uge-d1d &6d I fed of HAmHST © Ug dA feg #H 9 A | fEF E?EE’T @aﬁ!‘ )
T yge UaEt 88 83 UE 93 I 9d A6 13d &6k @ & Afgs 83 gt <t

W o alm yz'e fun ingdt Ag3 €1 fegaudr Al gt Uag feg
fHAgs ®dit| A8 279 T—fw aﬁé‘h@r 3 AL T ygugr =7 ysTe WWHW feg
fen uer 7, 8 IEG RGNS G'dHI HHht‘c'!PH'f o U TS| = gr Ef STt © g
3 Ut fog %Dr &H &g g G'dH] g5 E’ t‘dd'dl q%T dF a'aa’ lmTH'T @5’ feAeT
ysE Uz Agd! ATIfeuarsHa @9t 3 Uit 3 fetiar=sna geve feg wee fest

Sub questions

Question Number : 146 Question Id : 3421238416 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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YI<-g1d 364 I S8 HABHTST ©F AETUST:

1. Yyd=-qd &'6d % fog UnTg »igd HABHS' & I &1 AEST J1feH 7 gt Hi |

2. YJI=-9d F6d I 9 UA™ Wied HABHS' ©f I%3 321386 A

L

YI=-JJ 761 1 o9 HABHS! € UA™ nied JEt fesgmit a0t At

4.YI=9-7J 561 IS o8 HAGHS o= UGHR mis M3THI AU 199 &6 Aa |

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 3421238417 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Urrdt 8@t 83 @gAT T usTe:

|. HABH®! © USH &% UAE nigd AAIGS ITH & [@A3T9 JiEnT)

2. HABHTS! © U=H &% Udtd! 3T 83 S/gAl 38 27 yge nwirdg JfenT|

3. HABHTR © U=H &% Udtal T B3 9AT @ o U= &di funf|

il F i

4. HABHS' T U=H & Udtal 7 g9AT 3T © fedu o9 &ag ni=tl

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 3421238418 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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W3gt Afg3 ©f fegguar ;

i
wWgdT A3 2 fegrgurgT g 9rT 8&t 9at B Hait
.
WIIT W3 UF=T ITHT &7 »iyR feg 97937 &7 = HfonT|
3’ L) ™ i
st 7fgzs oF fegguaT wiusr mit fear dat AT
4‘ L) ™ i -~ =,
WIgT Afa3 &f fegrguraT d=% nidg €HT 34 HIfHI IdT
Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 3421238419 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

<9AT it 3Tt 3 wiges! € uduar:
L. E9HT Enft 01T 3 nEe @ € USUTT ¥ =B Hel (U3t BuT niAg funf|

2. BTIAT it 0SB 3 nigde T UIUTT T AsHAHT Ad3 Gud niAg fumm

3, .aaﬁ"rwew 3fg=t®st 3 nige®t UaHT d6-H1E6 viS AfSn™aTg ©F Widl & 9=
HA T |

4. IHAT Tt ITT=TH I o= T o=® Urrdl foH Bua miFg fumrm

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 3421238420 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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[TLATSHA @ 9AT =7 U2

1. ISHImSH S9HT & UATET STHT & AUdISHS ITHT g8'8T feg Hew 1St

2. feviarsHa @ 9RT & Uardt 37 ©f 9239 Bug AT wiAd & utfenr|

r

3. I'%trldl 'ﬂHH G"dHI ) U?ITEﬂ' gTHT ?? I%Lrldl':ﬁHar dé"d& I'E"d Hee I3t feuarsHa
STIAT & UaET 3T 3 [SITSHA 83’@5 feg Hee 13T

4. JArET ITHT € 9239 »iF St AUATSHA J
Options :
11
2.2
3.3
4.4

Question Id : 3421238415 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension

J5 fod U9 © »o9 '3 U'Z T yHe' © At feamy g

YJ=-Jd 36 IS feg EJQH-D:I?‘ﬂ-I"FF E UH Ure feg A4 I As | fEFf EET@EJF? TG

T ygwe Uadl 898 83 U »ids J 99 A& 131d 56 A1 g m:& H:ﬁ ST Ef”r

I3 UguaT = ST yge fimmngEt Aoz € fegugr @At 9dt uag feg

HAg= &aiti W@aﬂ}ﬁwg&éﬂwqwﬁm@mw}w%@

fer U'er 4, 69 fdm Uaet feg gaAt HH:‘&%‘!FHTETH'UUFI S gAT @ it @ wirog

qwcsﬁ%aaprwfﬁamm @aﬂ“raw ?edaw aﬁ?aﬁmm”r@?f?ﬂ@
Uz'2 UZT d991 HT I IeWamsSHA 89AT & UrATd! & feudrsHa ge'e feg Hee 3t

Sub questions

Question Number : 146 Question Id : 3421238416 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YIe-Jd 564 A% S8 HABHG B AEUSt:

1. YI=-qd 364 I 9 UA™ nied HABHS' € I'H €1 REUST JeH 7 do T Al

2. YJI=-d 36d I 99 UA™ wied HAGHS' ©f I83 321386 A

3. YJd=-qd &84 O 99 HABHS! ©f UrTg nivg Jet fesondt &d1 At

4.Yd=-9d 56 IS fed HABHS o<® UiHA ni3 wistH AT fou 3l A |

Options :
1.1
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2.2
3.3
4.4

Question Number : 147 Question Id : 3421238417 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Urrd! 8@t 83 @At T usTe;

|. HABHTS! © UTH &% Ud'g nwied FAlGS 3THT &7 [ER3Tg Jfenf|

]

HASHS T U=H &% Udgl 3T 83 S9AT 981 ©7 U< »idg Jienf|

3. HABH® © U=H &% Urtd! 3T 83 8 9HT T o=! Yyse ad1 fumim)

4. HABHS & USH &'& Udel T/ @'9AT 3THT (@90 {29 &ad ni=l|
Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 3421238418 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

W3gt Afg3 ©f fegguar ;

i
wgdT A3 2 fegrgurgT g9rT 8@t 9at B Hait
.
WIHT wiZ UATET ITHT €7 WiUA feg 9937 &7 I AfdnT |
3’ L) ™ i
wigst Tfas oF fegguaT wiusr myt fear Jat AT
4‘ L) ™ i -~ =,
WIgT Afa3 &f fegrguraT d=% »idg €HT 3o HAIfHI IdT
Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 3421238419 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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STIAT it SToS1%T T nideT® & UgudT:
1. S9HT Tt ITIR1HT 3 wid= s T YsudT ¥ =8 ALl feu3t Bug wiAd fumm

2. STIAT Enit 301 3 nige st 2 UguaT o7 AsHAHT A3 8ug niAg fimr

3..@3ﬂ°rwe’fn#?f"ae. &t 3 wiageT® UdTET Aa-A=6 W= HfgnaTg @ Widl &7 g5
HolT |

4. 27 gAT it 3T 3 nige & T o=® Umdl foi Bus niFg fimr

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 3421238420 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[SEAM3HA @A &7 U2

L. [SUamsHa 9T & UATET THT & HUdSHS ITHT §278T feu Hew Jist

2. fedarsHa @Rt & Uardt 37 ©F 9339 BUT I8 »iAd &7 Utfen|

3. fedarsHe 2@ 9nT & Uatdt 37 & fewarsHa ge8e feg Hee J15T1 fetamsHa
o~ n "y e . S = i i~ L A |
S9HT & UATHh 3T @ feufarsHa ETlE few Hew FiST

4. JATET 3THT € 9239 »iF St AUATSHA J
Options :
1.1
2.2
3.3
4.4
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